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1. Consider the following statements and choose the 
correct answer with the help of the codes given below: 

Statement (A): Akbar constructed Buland Darwaza in 
Fatehpur Sikri in 1602 A.D. 

Reason (R): Akbar wanted to make his Gujarat victory 
unforgettable. 

Code: 

(a) Both (A) and (R) are correct, (R) is the correct 
explanation of (A). 

(b) Both (A) and (R) are correct but (R) is not the 
correct explanation of (A). 

(c) (A) is correct but (R) is incorrect. 

(d) (A) is incorrect but (R) is correct. 

1. िनɻिलİखत कथनो ंपर िवचार कीिजए और नीचे िदए गए कूट 
की सहायता से सही उȅर चुिनए: 

कथन (ए): अकबर ने 1602 ईˢी मŐ फतेहपुर सीकरी मŐ बुलंद 
दरवाजे का िनमाŊण िकया था। 

कारण (R) : अकबर अपनी गुजरात िवजय को अिव˝रणीय 
बनाना चाहता था। 

कोड: 

(ए) दोनो ं(ए) और (आर) सही हœ, (आर) (ए) का सही ˙ʼीकरण 
है। 

(बी) दोनो ं(ए) और (आर) सही हœ लेिकन (आर) (ए) का सही 
˙ʼीकरण नही ंहै। 

(सी) (ए) सही है लेिकन (आर) गलत है। 

(डी) (ए) गलत है लेिकन (आर) सही है। 

1. Ans– (a) Assertion (A) and Reason (R) both are 
correct but Reason (R) is the correct explanation of 
Assertion (A). 

कथन (A) और कारण (R) दोनो ंसही हœ लेिकन कारण (R), कथन 
(A) की सही ʩाƥा है। 

2. Whom among the following painters of Jahangir's 
court had mastery in painting of birds and animals? 

(a) Khwaja Mansoor  

(b) Daswant 

(c) Mir Syed Ali  

(d) Vishandas 

2. जहाँगीर के दरबार के िनɻिलİखत िचũकारो ंमŐ से िकसको 
पिƗयो ंऔर जानवरो ंके िचũ बनाने मŐ महारत हािसल थी? 

(ए) Ʀाजा मंसूर 

(बी) दासवंत 

(सी) मीर सैयद अली 

(डी) िवशनदास 

2. Ans– (a) 

Khwaja Mansoor was the painter in Jahangir period. He 
had mastery in painting of birds and animals. 

जहाँगीर के काल मŐ Ʀाजा मंसूर िचũकार थे। उɎŐ पिƗयो ंऔर 
जानवरो ंके िचũ बनाने मŐ महारत हािसल थी। 

3. Which one of the following can be inferred from the 
scarcity of currency or coins in the later Gupta period? 

(a) Deterioration of Trade 

(b) Depreciation of Money Economy 

(c) Unavailability of Gold 

(d) Self-reliance of Rural Economy 

3. उȅर गुɑ काल मŐ मुūा या िसſो ंकी कमी से िनɻिलİखत मŐ 
से कौन सा अनुमान लगाया जा सकता है? 

(ए) ʩापार की िगरावट 

(बी) मुūा अथŊʩव˕ा का मूʞŸास 

(सी) सोने की अनुपलɩता 

(डी) Ťामीण अथŊʩव˕ा की आȏिनभŊरता 

3. Ans– (a) 

Foreign trade was at its extreme at the flourishing of 
the Gupta period. During the period of the later Gupta 
rulers, there was a decline in trade due to the invasion 
of the Huns. 

गुɑ काल के फलने-फूलने के समय िवदेशी ʩापार अपने चरम 
पर था। उȅर गुɑ शासको ंके काल मŐ šणो ंके आŢमण के 
कारण ʩापार मŐ िगरावट आई। 

4. Which one of the following does not mention the 
principle of reincarnation of the soul? 

(a) Aranyakas 

(b) Jataka Texts 

(c) Upanishadas 
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(d) Vedas 

4. िनɻिलİखत मŐ से कौन आȏा के पुनजŊɉ के िसȠांत का 
उʟेख नही ंकरता है? 

(ए) आरǻक 

(बी) जातक Ťंथ 

(सी) उपिनषद 

(डी) वेद 

4. Ans– (d) 

Vedas do not have mention of the principle of 
reincarnation of the soul. 

वेदो ंमŐ आȏा के पुनजŊɉ के िसȠांत का उʟेख नही ंहै। 

5. Which of the following pairs is not correctly 
matched? 

(Deccan State)                 (Founder) 

(a) Bidar –                        Ali Bareed 

(b) Bijapur –                    Yusuf Adilshah 

(c) Ahmadnagar –            Malik Ahmad 

(d) Golconda –                Amir Shah 

5. िनɻिलİखत मŐ से कौन सा जोड़ा सही ढंग से मेल नही ंखाता है? 

(डेſन राǛ) (सं˕ापक) 

(ए) बीदर - अली बरीद 

(बी) बीजापुर-यूसुफ आिदलशाह 

(सी) अहमदनगर - मिलक अहमद 

(डी) गोलकोडंा - अमीर शाह 

5. Ans– (d) 

A government official Kutub Shah was the founder of 
Golconda state. All others are correctly matched. 

एक सरकारी अिधकारी कुतुब शाह गोलकोडंा राǛ के सं˕ापक 
थे। अɊ सभी सही सुमेिलत हœ। 

6. Who were Nayanar? 

(a) Those who were immersed in the devotion of 
Vishnu. 

(b) Those who were devotee of Buddha. 

(c) Leaders who were devotee of Shiva. 

(d) Leaders, who were devotee of Basveshwar. 

6. नयनार कौन थे? 

(ए) जो िवˁु की भİƅ मŐ लीन थे। 

(बी) जो बुȠ के भƅ थे। 

(सी) नेता जो िशव के भƅ थे। 

(डी) नेता, जो बसवेʷर के भƅ थे। 

6. Ans– (c) 

Nayanar were the devotees of Lord Shiva. Their 
evolution was in South India in medieval period. 63 
Nayanars played important role in the spread of 
Shaivism. 

नयनार भगवान िशव के भƅ थे। उनका िवकास मȯकाल मŐ 
दिƗण भारत मŐ Šआ था। शैव मत के Ůसार मŐ 63 नयनारो ंने 
महȕपूणŊ भूिमका िनभाई। 

7. The report of Comptroller and Auditor General is 
presented by the president in both the houses of 
parliament. The ultimate responsibility of appropriate 
action on the works done by him is of : 

(a) Parliament 

(b) The house in which report is presented 

(c) President 

(d) Parliamentary Committee 

7. िनयंũक एवं महालेखा परीƗक की įरपोटŊ रा Ō̓ पित Ȫारा संसद 
के दोनो ंसदनो ंमŐ Ůˑुत की जाती है। उसके Ȫारा िकए गए कायŘ 
पर उिचत कारŊवाई की अंितम िजʃेदारी िनɻ मŐ से है: 

(ए) संसद 

(बी) वह सदन िजसमŐ įरपोटŊ Ůˑुत की जाती है 

(सी) रा Ō̓ पित 

(डी) संसदीय सिमित 

7. Ans– (a) 

Under article 151(1) of the constitution, report of 
Comptroller and Auditor General is presented by the 
president in both the houses of the parliament. So the 
ultimate responsibility to take action on the notings of 
comptroller and auditor general is of the parliament. 

संिवधान के अनुǅेद 151(1) के तहत, िनयंũक और महालेखा 
परीƗक की įरपोटŊ संसद के दोनो ंसदनो ंमŐ रा Ō̓ पित Ȫारा Ůˑुत 
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की जाती है। अतः  िनयंũक एवं महालेखा परीƗक की िटɔिणयो ं
पर कारŊवाई करने की अंितम िजʃेदारी संसद की है। 

8. Article 371-A of the constitution of India provides 
extraordinary privilege to whom? 

(a) Nagaland         

(b) Mizoram 

(c) Sikkim  

(d) Manipur 

8. भारत के संिवधान का अनुǅेद 371-ए िकसे असाधारण 
िवशेषािधकार Ůदान करता है? 

(ए) नागालœड 

(बी) िमजोरम 

(सी) िसİſम 

(डी) मिणपुर 

8. Ans– (a) 

Article 371-A of the constitution of India provides 
extraordinary privilege to Nagaland. 

भारत के संिवधान का अनुǅेद 371-ए नागालœड को असाधारण 
िवशेषािधकार Ůदान करता है। 

9. Which of the following commissions was constituted 
to investigate the effect of Emergency of 1975? 

(a) Sarkaria Commission 

(b) Singhvi Commission 

(c) Venkatachaliah Commission 

(d) Shah Commission 

9. 1975 के आपातकाल के Ůभाव की जांच के िलए िनɻिलİखत मŐ 
से िकस आयोग का गठन िकया गया था? 

(ए) सरकाįरया आयोग 

(बी) िसंघवी आयोग 

(सी) वŐकटचलैया आयोग 

(डी) शाह आयोग 

9. Ans– (d) 

Shah Commission was constituted to investigate the 
effect of Emergency of 1975. 

1975 के आपातकाल के Ůभाव की जांच के िलए शाह आयोग का 
गठन िकया गया था। 

10. Which of the following statements is/are incorrect? 

1. Constitutional Amendment Bill can be introduced by 
any minister or non-government member. 

2. For this bill, neither prior permission of president is 
necessary nor the provision of joint meeting. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 Both  

(d) Neither 1 nor 2 

10. िनɻिलİखत मŐ से कौन सा/से कथन गलत है/हœ? 

1. संिवधान संशोधन िवधेयक को कोई भी मंũी या गैर सरकारी 
सद˟ पेश कर सकता है। 

2. इस िवधेयक के िलए न तो रा Ō̓ पित की पूवाŊनुमित आवʴक है 
और न ही संयुƅ बैठक का Ůावधान। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

10. Ans– (d) 

Neither of the two statements regarding constitutional 
amendment bill mentioned in the question is incorrect. 

Ůʲ मŐ उİʟİखत संिवधान संशोधन िवधेयक के संबंध मŐ दोनो ं
कथनो ंमŐ से कोई भी गलत नही ंहै। 

11. Which one of the following is not the function of 
Local Government Bodies? 

(a) Establishment of Peace 

(b) Arrangements of Education 

(c) Health and Hygiene 

(d) Registration of Birth and Death 

11. िनɻिलİखत मŐ से कौन सा ˕ानीय सरकारी िनकायो ंका कायŊ 
नही ंहै? 
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(ए) शांित की ˕ापना 

(बी) िशƗा की ʩव˕ा 

(सी) ˢा˖ और ˢǅता 

(डी) जɉ और मृȑु का पंजीकरण 

11. Ans– (a) 

Establishment of Peace is not the function of Local 
Government Bodies. It is the function of State 
Government. 

शांित की ˕ापना ˕ानीय सरकारी िनकायो ंका कायŊ नही ंहै। यह 
राǛ सरकार का काम है। 

12. Consider the following statements and choose the 
correct statements: 

1. Maximum number of provisions in the Indian 
Constitution have been taken from the Government of 
India Act-1935. 

2. Concurrent List has been adopted from the 
Constitution of Australia. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 Both  

(d) Neither 1 nor 2 

12. िनɻिलİखत कथनो ंपर िवचार कीिजए और सही कथनो ंका 
चयन कीिजए: 

1. भारतीय संिवधान मŐ अिधकतम Ůावधान भारत सरकार 
अिधिनयम-1935 से िलए गए हœ। 

2. समवतŎ सूची को ऑ Ōː ेिलया के संिवधान से अपनाया गया है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

12. Ans– (c) 

Both the statements mentioned in the question are 
correct. 

Ůʲ मŐ उİʟİखत दोनो ंकथन सही हœ। 

13. All India Depressed Class Association was 
established by: 

(a) Jyotiba Phule 

(b) Periyar 

(c) B.R. Ambedkar 

(d) Dayananda Saraswati 

13. अİखल भारतीय दिलत वगŊ संघ की ˕ापना िकसके Ȫारा की 
गई थी: 

(ए) Ǜोितबा फुले 

(बी) पेįरयार 

(सी) बी.आर. अɾेडकर 

(डी) दयानंद सरˢती 

13. Ans– (c) 

All India Depressed Class Association was established 
by B.R. Ambedkar in the year 1942. This association 
was related with the security of rights of Dalits. 

ऑल इंिडया िडŮे̾ड Ƒास एसोिसएशन की ˕ापना बी.आर. 
अɾेडकर ने वषŊ 1942 मŐ िकया था। यह संघ दिलतो ंके अिधकारो ं
की सुरƗा से संबंिधत था। 

14. Who among the following was the political teacher 
of Subhash Chandra Bose? 

(a) Cittaranjan Das 

(b) C. Rajgopalachari 

(c) Bal Gangadhar Tilak 

(d) Firozshah Mehta 

14. िनɻिलİखत मŐ से कौन सुभाष चंū बोस के राजनीितक िशƗक 
थे? 

(ए) िचȅरंजन दास 

(बी) सी. राजगोपालाचारी 

(सी) बाल गंगाधर ितलक 

(डी) िफरोजशाह मेहता 

14. Ans– (a) 

Cittaranjan Das was the political teacher of Subhash 
Chandra Bose. 
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िचȅरंजन दास सुभाष चंū बोस के राजनीितक गुŜ थे। 

15. Who among the following was not in three Indian 
members in ‘Hunter Committee’ to investigate 
Jallianwala Bagh Massacre? 

(a) Sir Chimanlal Setalvad 

(b) Sahebzada Sultan Ahmad 

(c) Krishna Gopal Karve 

(d) Jagat Naraian 

15. जिलयांवाला बाग हȑाकांड की जांच करने वाली 'हंटर 
कमेटी' मŐ तीन भारतीय सद˟ो ंमŐ िनɻिलİखत मŐ से कौन नही ंथा? 

(ए) सर िचमनलाल सीतलवाड़ 

(बी) साहबजादा सुʔान अहमद 

(सी) कृˁ गोपाल कवő 

(डी) जगत नारायण 

15. Ans– (c) 

In the October, 1919, government had setup a 
commission under the chairmanship of Lord Hunter to 
investigate the Jallianwala Bagh massacre. Three Indian 
members were included in it : 

1. Sir Chimanlal Sitalwad, 2. Sahebhada Sultan Ahmad, 
3. Jagat Narain. 

अƃूबर, 1919 मŐ सरकार ने जिलयांवाला बाग हȑाकांड की जांच 
के िलए लाडŊ हंटर की अȯƗता मŐ एक आयोग का गठन िकया 
था। इसमŐ तीन भारतीय सद˟ शािमल थे: 

1. सर िचमनलाल सीतलवाड़, 2. साहेभादा सुʔान अहमद, 3. 
जगत नारायण। 

16. In ‘Tuhfat-ul-Hind’, the source of 18th century, the 
huge vocabulary of which of the following languages is 
given? 

(a) Braj  

(b) Awadhi 

(c) Rajasthani  

(d) Gujarati 

16. 18वी ंशताɨी के ŷोत 'तुहफत-उल-िहंद' मŐ िनɻिलİखत मŐ से 
िकस भाषा की िवशाल शɨावली दी गई है? 

(ए) Űज 

(बी) अवधी 

(सी) राज˕ानी 

(डी) गुजराती 

16. Ans– (a) 

In ‘Tuhfat-ul-Hind’, the source of 18th century, the 
huge vocabulary of Braj languages is given. 

18वी ंशताɨी के ŷोत 'तुहफत-उल-िहंद' मŐ Űजभाषाओ ंकी 
िवशाल शɨावली दी गई है। 

17. By which party publication of “Young India” was 
started on weekly basis which was published bi-weekly 
from Mumbai? 

(a) Swaraj Party 

(b) Home rule Party 

(c) Gadar Party 

(d) Indian Independence League 

17. िकस दल Ȫारा “यंग इİǷया” का Ůकाशन साɑािहक आधार 
पर Ůारʁ िकया गया जो मुɾई से िȪ-साɑािहक Ůकािशत होता 
था? 

(ए) ˢराज पाटŎ 

(बी) होमŝल पाटŎ 

(सी) गदर पाटŎ 

(डी) इंिडयन इंिडपŐडŐस लीग 

17. Ans– (b) 

“Young India” was published bi-weekly from Mumbai. 
From May 7, 1919, it was being published as weekly 
from Ahmadabad by Jamnadas Dwarkadas and 
Shyamlal Banker, the members of Home rule Party. 

"यंग इंिडया" मंुबई से िȪ-साɑािहक Ůकािशत होता था। 7 मई, 
1919 से, यह जमनादास Ȫारकादास और ʴामलाल बœकर, 
होमŝल पाटŎ के सद˟ो ंȪारा अहमदाबाद से साɑािहक ŝप मŐ 
Ůकािशत िकया जा रहा था। 

18. Who among the following Governor Generals of 
India is considered as the maker of Modern India? 

(a) Lord Curzon  

(b) Lord Dalhousie 

(c) Lord Ripon  
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(d) Lord Lytton 

18. भारत के िनɻिलİखत गवनŊर जनरलो ंमŐ से िकसे आधुिनक 
भारत का िनमाŊता माना जाता है? 

(ए) लॉडŊ कजŊन 

(बी) लॉडŊ डलहौजी 

(सी) लॉडŊ įरपन 

(डी) लॉडŊ िलटन 

18. Ans– (b) 

Lord Dalhousie is considered as the maker of Modern 
India. 

लाडŊ डलहौजी को आधुिनक भारत का िनमाŊता माना जाता है। 

19. Which statement regarding Social and Religious 
Reforms Movement of 19th Century is incorrect? 

(a) This movement highly affected poor general class. 

(b) Because of this movement modernisation of India 
happened. 

(c) Raja Rammohan Roy is considered as father of 
these reforms and renaissance of India. 

(d) All the statements are correct. 

19. 19वी ंशताɨी के सामािजक एवं धािमŊक सुधार आȽोलन के 
सɾɀ मŐ कौन-सा कथन असȑ है ? 

(ए) इस आंदोलन ने गरीब सामाɊ वगŊ को अȑिधक Ůभािवत 
िकया। 

(बी) इस आंदोलन के कारण भारत का आधुिनकीकरण Šआ। 

(सी) राजा राममोहन राय को भारत के इन सुधारो ंऔर पुनजाŊगरण 
का जनक माना जाता है। 

(डी) सभी बयान सही हœ। 

19. Ans– (a) 

Religious Reforms Movement of 19th Century has 
affected Intellectual and Middle Class while poor 
general class remained almost unaffected from these 
movements. 

19वी ंसदी के धािमŊक सुधार आंदोलन ने बौİȠक और मȯम वगŊ 
को Ůभािवत िकया है जबिक गरीब सामाɊ वगŊ इन आंदोलनो ंसे 
लगभग अŮभािवत रहा। 

20. During the reign of whom among the following 
Governor General, ‘Policy of Masterly Inactivity’ has 
been replaced by ‘Forward Policy’? 

(a) Lord Lytton  

(b) Lord Ripon 

(c) Lord Minto  

(d) Lord Dufferin 

20. िनɻिलİखत गवनŊर जनरल मŐ से िकसके शासनकाल मŐ, 
'माːरली इनएİƃिवटी की नीित' को 'फॉरवडŊ पॉिलसी' Ȫारा 
Ůित˕ािपत िकया गया है? 

(ए) लॉडŊ िलटन 

(बी) लॉडŊ įरपन 

(सी) लॉडŊ िमंटो 

(डी) लॉडŊ डफįरन 

20. Ans– (a) 

In 1876 AD, Lord Lytton was appointed as Viceroy of 
India. He adopted the ‘Forward Policy’ in place of 
‘Policy of Masterly Inactivity’ towards Afghanistan. 

1876 ई. मŐ लाडŊ िलटन को भारत का वायसराय िनयुƅ िकया 
गया। उɎोनें अफगािनˑान के Ůित 'माːरली इनएİƃिवटी की 
नीित' के ˕ान पर 'फॉरवडŊ पॉिलसी' अपनाई। 

21. Which one of the following was the last among the 
merged territories under Lord Dalhousie’s Doctrine of 
Lapse? 

(a) Karauli  

(b) Nagpur 

(c) Jhansi  

(d) Udaipur 

21. लॉडŊ डलहौजी के ʩपगत के िसȠांत के तहत िवलय िकए गए 
Ůदेशो ंमŐ िनɻिलİखत मŐ से कौन सा अंितम था? 

(ए) करौली 

(बी) नागपुर 

(सी) झांसी 

(डी) उदयपुर 

21. Ans– (a) 
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The correct order of territories merged under Lord 
Dalhousie’s Doctrine of Lapse is: Satara (1848), Jaitpur 
and Sambhalpur (1849), Udaipur (1852), Jhansi (1853), 
Nagpur (1854), Karauli (1855). 

लॉडŊ डलहौजी के ʩपगत िसȠांत के तहत िवलय िकए गए Ůदेशो ं
का सही Ţम है: सतारा (1848), जैतपुर और संभलपुर (1849), 
उदयपुर (1852), झांसी (1853), नागपुर (1854), करौली (1855)। 

22. Consider the following statements: 

1. Surendra Nath Banerjee had established Indian 
Association in 1876 AD at Calcutta. 

2. In this organization, the middle class was given 
primacy in place of the landlord. 

Choose the correct statements: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) None of these 

22. िनɻिलİखत कथनो ंपर िवचार कीिजएः  

1. सुरेȾ नाथ बनजŎ ने 1876 ई. मŐ कलकȅा मŐ इंिडयन 
एसोिसएशन की ˕ापना की थी। 

2. इस संगठन मŐ जमीदंार के ˕ान पर मȯम वगŊ को Ůधानता दी 
जाती थी। 

सही कथनो ंका चयन करŐ : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) इनमŐ से कोई नही ं

22. Ans– (c) 

Both the statements mentioned in the question are 
correct. 

Ůʲ मŐ उİʟİखत दोनो ंकथन सही हœ। 

23. Which of the following pairs is not correctly 
matched? 

(Leader)                             (Revolt) 

(a) Motilal Tejawat –       Chenchu revolt 

(b) Rani Gaidinliu –          Naga revolt 

(c) Majnu Shah –             Saint rebellion 

(d) Chirag Ali –                 Rampa rebellion 

23. िनɻिलİखत मŐ से कौन सा जोड़ा सही ढंग से मेल नही ंखाता 
है? 

(नेता)                                    (िवūोह) 

(ए) मोतीलाल तेजावत -         चŐचू िवūोह 

(बी रानी गाइिद̢ʞू -             नागा िवūोह 

(सी) मजनू शाह -                  संत िवūोह 

(डी) िचराग अली -                 रंपा िवūोह 

23. Ans– (d) 

Alluri Sitaramaraju was the leader of Rampa Rebellion. 
All others are correctly matched. 

अʟूरी सीतारामाराजू रɼा िवūोह के नेता थे। अɊ सभी सही 
सुमेिलत हœ। 

24. To suppress which one of the following movements 
'Cunningham Circular' was issued by the British Govt. 
in Assam? 

(a) Non-cooperation movement 

(b) Civil Disobedience Movement 

(c) Ahmedabad Mill Movements 

(d) Champaran Satyagraha 

24. िनɻिलİखत मŐ से िकस आंदोलन को दबाने के िलए िŰिटश 
सरकार Ȫारा 'किनंघम सकुŊ लर' जारी िकया गया था? असम मŐ? 

(ए) असहयोग आंदोलन 

(बी) सिवनय अवǒा आंदोलन 

(सी) अहमदाबाद िमल आंदोलन 

(डी) चंपारण सȑाŤह 

24. Ans– (b) 

Civil Disobedience Movement was started by Mahatma 
Gandhi in the year 1930. To stop the active 
participation of students in this movement 
'Cunningham Circular' was issued in Assam. In the 
protest of which a movement was run by the students.  

सिवनय अवǒा आंदोलन महाȏा गांधी Ȫारा वषŊ 1930 मŐ शुŝ 
िकया गया था। इस आंदोलन मŐ छाũो ंकी सिŢय भागीदारी को 
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रोकने के िलए असम मŐ 'किनंघम सकुŊ लर' जारी िकया गया था। 
िजसके िवरोध मŐ छाũो ंȪारा आंदोलन चलाया गया। 

25. In Simla Conference organised by Viceroy Wavell in 
the year 1945, Who among the followings headed the 
Congress Delegation? 

(a) Jawahar Lal Nehru 

(b) Sardar Vallabh Bhai Patel 

(c) Abul Kalam Azad 

(d) Mahatma Gandhi 

25. वषŊ 1945 मŐ वायसराय वावेल Ȫारा आयोिजत िशमला 
सʃेलन मŐ, िनɻिलİखत मŐ से िकसने कांŤेस Ůितिनिधमंडल का 
नेतृȕ िकया?  

(ए) जवाहर लाल नेहŝ 

(बी) सरदार वʟभ भाई पटेल 

(सी) अबुल कलाम आजाद 

(डी) महाȏा गांधी 

25. Ans– (c) 

In Shimla Conference organised by Viceroy Lord Wavell 
in the year 1945, Abul Kalam Azad headed the 
Congress Deligation. 

वषŊ 1945 मŐ वायसराय लॉडŊ वावेल Ȫारा आयोिजत िशमला 
सʃेलन मŐ अबुल कलाम आज़ाद ने कांŤेस Ůितिनिधमंडल का 
नेतृȕ िकया। 

26. From where, the concept of ‘Free Kitchen’ (Langar) 
was adopted by the Sikhs? 

(a) Hindu Temples 

(b) Churches 

(c) Sufi Dargahas 

(d) Monasteries of Shankaracharya 

26. िसƀो ंने 'मु˹ रसोई' (लंगर) की अवधारणा कहाँ से 
अपनाई? 

(ए) िहंदू मंिदर 

(बी) चचŊ 

(सी) सूफी दरगाह 

(डी) शंकराचायŊ के मठ 

26. Ans– (d) 

‘Free Kitchen’ (Langar) was started during the period of 
Guru Nanak. This concept has been taken from 
Monasteries of Shankaracharya. 

गुŜ नानक के काल मŐ 'ůी िकचन' (लंगर) की शुŜआत Šई थी। 
यह अवधारणा शंकराचायŊ के मठो ंसे ली गई है। 

27. Which of the following statements regarding ‘White 
Mutiny’ is/are correct? 

1. This was the incident of Clive’s period. 

2. British soldiers of Munger and Allahabad revolted 
because of payment of less allowances. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

27. 'ʷेत िवūोह' के संबंध मŐ िनɻिलİखत मŐ से कौन सा/से कथन 
सही है/हœ? 

1. यह Ƒाइव के काल की घटना थी। 

2. मंुगेर और इलाहाबाद के िŰिटश सैिनको ंने कम भȅो ंके 
भुगतान के कारण िवūोह कर िदया। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

27. Ans– (c) 

Both the statements regarding White Mutiny 
mentioned in the question are correct. 

Ůʲ मŐ उİʟİखत ʷेत िवūोह के संबंध मŐ दोनो ंकथन सही हœ। 

28. A.O. Hume was the chairman of which Session of 
Congress? 

(a) Bombay Session 1885 

(b) Bankipur Session 1912 

(c) Madras Session 1887 

(d) None of these 



                                                                                                                                                                                

For Complete Test Series, Study Material, Notes, Ncert Gist Books & Question Bank WhatsApp on 9896160956 

HCS 2023 TEST – 1, A complete & Targeted Test Series for HCS 2023 

www.studymasterofficial.com 
28. ए.ओ. ह्यूम कांŤेस के िकस अिधवेशन के अȯƗ थे? 

(ए) बॉɾे सũ 1885 

(बी) बांकीपुर सũ 1912 

(सी) मūास सũ 1887 

(डी) इनमŐ से कोई नही ं

28. Ans– (d) 

Allan Octavian Hume was the retired British Officer of 
Indian Civil Services. He had set up Indian National 
Congress in the year 1885. He was the first General 
Secretary of it. He was never the president of Congress. 

एलन ऑƃेिवयन ह्यूम भारतीय िसिवल सेवा के सेवािनवृȅ 
िŰिटश अिधकारी थे। उɎोनें वषŊ 1885 मŐ भारतीय रा Ō̓ ीय कांŤेस 
की ˕ापना की थी। वे इसके पहले महासिचव थे। वह कभी कांŤेस 
के अȯƗ नही ंरहे। 

29. Consider the following statements: 

1. Hoogly is the tributary of river Damodar. 

2. Damodar Valley Project is the first multi-purpose 
project of India. 

3. Obra dam is situated over this river. 

Code: 

(a) 1 and 2  

(b) 2 and 3 

(c) 1 and 3  

(d) All of the above 

29. िनɻिलİखत कथनो ंपर िवचार कीिजएः  

1. Šगली दामोदर नदी की सहायक नदी है। 

2. दामोदर घाटी पįरयोजना भारत की Ůथम बŠउȞेʴीय 
पįरयोजना है। 

3. ओबरा बांध इस नदी के ऊपर İ˕त है। 

कोड : 

(ए) 1 और 2 

(बी) 2 और 3 

(सी) 1 और 3 

(डी) उपरोƅ सभी 

29. Ans– (a) 

Obra dam is situated over river Rihand. All other 
statements are correct. 

ओबरा बांध įरहंद नदी पर İ˕त है। अɊ सभी कथन सही हœ। 

30. Which of the following Noble gases is not found in 
the air? 

(a) Helium  

(b) Argon 

(c) Radon  

(d) Neon 

30. िनɻिलİखत मŐ से कौन-सी उǽृʼ गैस वायु मŐ नही ंपाई जाती 
है? 

(ए) हीिलयम 

(बी) आगŊन 

(सी) रेडॉन 

(डी) िनयॉन 

30. Ans– (c) 

Helium, Argon, Radon and Neon are noble gases. Out 
of these Radon gas is not present in the air. 

हीिलयम, आगŊन, रेडॉन और िनयॉन नोबल गैसŐ हœ। इनमŐ से रेडॉन 
गैस हवा मŐ मौजूद नही ंहै। 

31. Which of the following is/are the Ozone Depletion 
substances? 

1. Chlorofluoro Carbon 

2. Halons 

3. Carbon Tetra Chloride 

Code: 

(a) 1 and 3  

(b) 2 and 3 

(c) 1 and 2  

(d) All of the above 

31. िनɻिलİखत मŐ से कौन-सा/से ओजोन Ɨयकारी पदाथŊ है/हœ ? 

1. Ƒोरोɢोरो काबŊन 

2. हैलोɌ 

3. काबŊन टेटŌ ा Ƒोराइड 
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कोड : 

(ए) 1 और 3 

(बी) 2 और 3 

(सी) 1 और 2 

(डी) उपरोƅ सभी 

31. Ans– (d) 

All mentioned in the question are Ozone Depletion 
Substances. 

Ůʲ मŐ उİʟİखत सभी ओजोन įरƅीकरण पदाथŊ हœ। 

32. The extension of which one of the following 
mountains is at the borders of France and Switzerland? 

(a) Apennine  

(b) Mount Titlis 

(c) Jura Mountain  

(d) Andes 

32. िनɻिलİखत मŐ से िकस एक पवŊत का िवˑार ůांस और 
İˢट्जरलœड की सीमाओ ंपर है? 

(ए) एिपनेन 

(बी) माउंट िटट्िलस 

(सी) जुरा पवŊत 

(डी) एंडीज 

32. Ans– (c) 

The extension of Jura Mountain is at the borders of 
France and Switzerland. 

जुरा पवŊत का िवˑार ůांस और İˢट्जरलœड की सीमा पर है। 

33. Which of the following pairs is not correctly 
matched? 

(a) CLW – Chittaranjan 

(b) DLW – Varanasi 

(c) ICF – Chennai 

(d) RWF – Kapoorthala 

33. िनɻिलİखत मŐ से कौन सा जोड़ा सही ढंग से मेल नही ंखाता 
है? 

(ए) सीएलडɲू - िचȅरंजन 

(बी) डीएलडɲू - वाराणसी 

(सी) आईसीएफ - चेɄई 

(डी) आरडɲूएफ – कपूरथला 

33. Ans– (d) 

R.W.F. (Rail Wheel Factory) is situated at Yelehanka, 
Bengaluru. All others are correctly matched. 

आरडɲूएफ (रेल ʬील फैƃŌ ी) येलहंका, बŐगलुŜ मŐ İ˕त है। 
अɊ सभी सही सुमेिलत हœ। 

34. Which of the following pairs is not correctly 
matched? 

(a) Land of Morning Calm – Korea 

(b) Queen of Adriatic Sea – Rome 

(c) Mining Ghost Town – Coolgardie 

(d) Maximum Salinity – Van Lake 

34. िनɻिलİखत मŐ से कौन सा जोड़ा सही ढंग से मेल नही ंखाता 
है? 

(ए) मॉिनōग कैलम की भूिम - कोįरया 

(बी) एिडŌ यािटक सागर की रानी - रोम 

(सी) माइिनंग घोː टाउन - कूलगाडŎ 

(डी) अिधकतम लवणता - वैन झील 

34. Ans– (b) 

Venice city of Italy is known as ‘Queen of Adriatic Sea’. 
All other pairs are correctly matched. 

इटली के वेिनस शहर को 'एिडŌ यािटक सागर की रानी' के नाम से 
जाना जाता है। अɊ सभी युƵ सही सुमेिलत हœ। 

35. Through which pass of the sahyadri mountain 
range 'Mumbai-Nagpur-Kolkata' Rail route passes? 

(a) Palaghat  

(b) Bhorghat 

(c) Thaalghat  

(d) Shencottah Gap 

35. स˨ाūी पवŊत ŵंखला के िकस दरő  से 'मंुबई-नागपुर-
कोलकाता' रेल मागŊ गुजरता है ? 

(ए) पालाघाट 

(बी) भोरघाट 
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(सी) थालघाट 

(डी) शेनकोǥा गैप 

35. Ans– (c) 

'Mumbai-Nagpur-Kolkata' Rail route passes through 
Thaalghat Pass of the Sahyadri mountain range. 

'मंुबई-नागपुर-कोलकाता' रेल मागŊ स˨ाūी पवŊत ŵंृखला के 
थालघाट दरő  से होकर गुजरता है। 

36. Which of the following statements regarding 
‘longitude’ is/are correct? 

1. Their length is equal. 

2. The local time of all the places situated at a 
longitude is same. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 Both  

(d) Neither 1 nor 2 

36. 'देशांतर' के संबंध मŐ िनɻिलİखत मŐ से कौन सा/से कथन सही 
है/हœ? 

1. इनकी लɾाई बराबर होती है। 

2. देशांतर पर İ˕त सभी ˕ानो ंका ˕ानीय समय समान होता 
है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

36. Ans– (c) 

Both the statements regarding ‘Longitude’ mentioned 
in the question are correct. 

Ůʲ मŐ उİʟİखत 'देशांतर' के संबंध मŐ दोनो ंकथन सही हœ। 

37. Which one of the following pairs is not correctly 
matched? 

(Rock): (Metamorphic rock) 

(a) Granite: Niece 

(b) Grabo: Serpentinite 

(c) Besalt: Schist 

(d) Sandstone: Slate 

37. िनɻिलİखत मŐ से कौन सा युƵ सही सुमेिलत नही ंहै? 

(रॉक) : (कायांतįरत चǥान) 

(ए) Ťेनाइट: नीस 

(बी) Ťेबो : सपŒिटनाईट 

(सी) बेसाʐ : िशː 

(डी) बलुआ पȈर: ˠेट 

37. Ans– (d) 

Quartzite is formed by the metamorphosis of 
Sandstone, not slate. 

बलुआ पȈर के कायांतरण से ƓाटŊजाइट का िनमाŊण होता है, 
ˠेट से नही।ं 

38. In the formation of Peninsular India the correct 
order of ancient to new rocks is : 

(a) Kudappa-Dharwad-Gondwana-Vindhya 

(b) Dharwad-Kudappa-Gondwana-Vindhya 

(c) Vindhya-Gondwana-Dharwad-Kudappa 

(d) Dharwad-Kudappa-Vindhya-Gondwana 

38. ŮायȪीपीय भारत के िनमाŊण मŐ Ůाचीन से नवीन शैलो ंका सही 
Ţम है : 

(ए) कुडɔा-धारवाड़-गोडंवाना-िवंȯ 

(बी) धारवाड़-कुडɔा-गोडंवाना-िवंȯ 

(सी) िवंȯ-गोडंवाना-धारवाड़-कुडɔा 

(डी) धारवाड़-कुडɔा-िवंȯ-गोडंवाना 

38. Ans– (d) 

In the formation of Peninsular India, the correct order 
of ancient to new rocks is: Dharwad-Kudappa-Vindhya-
Gondwana. 

ŮायȪीपीय भारत के िनमाŊण मŐ Ůाचीन से नवीन चǥानो ंका सही 
Ţम है : धारवाड़-कुडɔा-िवंȯ-गोडंवाना। 

39. Which of the following cities is not a capital of any 
country? 

(a) Nicosia  
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(b) Port Louis 

(c) Bern  

(d) Christchurch 

39. िनɻिलİखत मŐ से कौन-सा शहर िकसी भी देश की राजधानी 
नही ंहै? 

(ए) िनकोिसया 

(बी) पोटŊ लुइस 

(सी) बनŊ 

(डी) ŢाइːचचŊ 

39. Ans– (d) 

Christchurch is a city of New Zealand. Capital of New 
Zealand is Wellington. 

Cyprus – Nicosia 

Mauritius – Port Louis 

Switzerland – Bern 

ŢाइːचचŊ Ɋूजीलœड का एक शहर है। Ɋूजीलœड की राजधानी 
वेिलंगटन है। 

साइŮस - िनकोिसया 

मॉरीशस - पोटŊ लुइस 

İˢट्जरलœड - बनŊ 

40. Choose the correct statements from the following: 

1. The height of Western Ghats increases from north to 
south. 

2. The highest peak of Eastern Ghats is Jindhagada. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) None of these 

40. िनɻिलİखत मŐ से सही कथनो ंका चयन कीिजए: 

1. पिʮमी घाट की ऊँचाई उȅर से दिƗण की ओर बढ़ती है। 

2. पूवŎ घाट की सबसे ऊँची चोटी िजंदगड़ा है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) इनमŐ से कोई नही ं

40. Ans– (b) 

The height of Western Ghats decreases from north to 
south, which is a continuous series. The highest peak of 
Eastern Ghats is Jindhagada (1690 m.) Second highest 
peak is Arma Yoma (1680 m.). 

पिʮमी घाट की ऊंचाई उȅर से दिƗण की ओर घटती जाती है, जो 
एक सतत ŵंृखला है। पूवŎ घाट की सबसे ऊँची चोटी िजंदगड़ा 
(1690 मीटर) है। दूसरी सबसे ऊँची चोटी अरमा योमा (1680 
मीटर) है। 

41. Which of the following seas is situated in the east 
most? 

(a) Aral Sea 

(b) Caspian Sea 

(c) Mediterranean Sea 

(d) Black Sea 

41. िनɻिलİखत मŐ से कौन-सा समुū सबसे पूवŊ मŐ İ˕त है? 

(ए) अरल सागर 

(बी) कैİ˙यन सागर 

(सी) भूमȯ सागर 

(डी) काला सागर 

41. Ans– (a) 

Main lake of Central Asia is Aral Sea. It touches the 
boundaries of Kazakhstan and Uzbekistan. In the 
options mentioned in the question, the correct order 
of seas from West to East is Mediterranean Sea, Black 
Sea, Caspian Sea, Aral Sea. 

मȯ एिशया की मुƥ झील अरल सागर है। यह कजािकˑान 
और उǙेिकˑान की सीमाओ ंको छूता है। Ůʲ मŐ िदए गए 
िवकʙो ंमŐ पिʮम से पूवŊ की ओर समुūो ंका सही Ţम भूमȯ 
सागर, काला सागर, कैİ˙यन सागर, अरल सागर है। 

42. Consider the following statements and choose the 
correct answer with the help of the codes given below: 
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Statement (A): All longitude lines are called Great 
Circles. 

Reason (R): All longitude lines divide earth in equal 
parts. 

Code: 

(a) Both (A) and (R) are correct, (R) is the correct 
explanation of (A). 

(b) Both (A) and (R) are correct but (R) is not the 
correct explanation of (A). 

(c) (A) is correct but (R) is incorrect. 

(d) (A) is incorrect but (R) is correct. 

42. िनɻिलİखत कथनो ंपर िवचार कीिजए और नीचे िदए गए कूट 
की सहायता से सही उȅर चुिनए: 

कथन (A) : सभी देशांतर रेखाओ ंको वृहत वृȅ कहते हœ। 

कारण (R) : सभी देशांतर रेखाएँ पृțी को समान भागो ंमŐ 
िवभािजत करती हœ। 

कोड: 

(ए) दोनो ं(ए) और (आर) सही हœ, (आर) (ए) का सही ˙ʼीकरण 
है। 

(बी) दोनो ं(ए) और (आर) सही हœ लेिकन (आर) (ए) का सही 
˙ʼीकरण नही ंहै। 

(सी) (ए) सही है लेिकन (आर) गलत है। 

(डी) (ए) गलत है लेिकन (आर) सही है। 

42. Ans– (a) 

Assertion (A) and Reason (R) both are correct but 
Reason (R) is the correct explanation of Assertion (A). 

कथन (A) और कारण (R) दोनो ंसही हœ लेिकन कारण (R), कथन 
(A) की सही ʩाƥा है। 

43. Which of the following ports of India is an example 
of external port? 

(a) Haldia 

(b) Vishakhapatanam 

(c) Chennai 

(d) Kochi 

43. भारत का िनɻिलİखत मŐ से कौन सा बंदरगाह बाहरी बंदरगाह 
का उदाहरण है? 

(ए) हİʗया 

(बी) िवशाखापȅनम 

(सी) चेɄई 

(डी) कोİǄ 

43. Ans– (a) 

Haldia situated nearly 90 km. apart from Kolkata is an 
specific example of external port. 

हİʗया लगभग 90 िकमी. कोलकाता के अलावा बाहरी बंदरगाह 
का एक िविशʼ उदाहरण है। 

44. Match List-I with List-II and choose the correct 
answer with the help of given codes: 

List-I                               List-II 

(Biosphere Reserve)      (Situated at) 

A) Nokrek                      1. Odisha 

B) Cold Desert               2. Meghalaya 

C) Dihang                      3. Arunachal Pradesh 

D) Simlipal                     4. Himachal Pradesh 

Code: 

    A B C D 

(a) 2 4 3 1 

(b) 2 3 4 1 

(c) 4 3 2 1 

(d) 2 3 1 4 

44. सूची-I को सूची-II से सुमेिलत कीिजए और िदए गए कूट की 
सहायता से सही उȅर चुिनए: 

सूची-I                          सूची-II 

(बायो˛ीयर įरजवŊ)       (यहां İ˕त) 

A) नोकरेक           1. ओिडशा 

B) शीत मŜ˕ल             2. मेघालय 

C) िदहांग                       3. अŜणाचल Ůदेश 

D) िसमलीपाल                4. िहमाचल Ůदेश 

कोड: 

    ऐ बी सी डी 
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(ए) 2 4 3 1 

(बी) 2 3 4 1 

(सी) 4 3 2 1 

(डी) 2 3 1 4 

44. Ans– (a) 

The correct match is: 

(Biosphere Reserve) (Situated at) 

Nokrek – Meghalaya 

Cold Desert – Himachal Pradesh 

Dihang – Arunachal Pradesh 

Simlipal – Odisha 

सही सुमेल है: 

(बायो˛ीयर įरजवŊ) (यहां İ˕त) 

नोकरेक - मेघालय 

शीत मŜ˕ल - िहमाचल Ůदेश 

िदहांग - अŜणाचल Ůदेश 

िसमलीपाल - उड़ीसा 

45. Consider the following: 

1. South Sudan  

2. Swaziland 

3. Gabon 

Which of the above is/are landlocked countries of 
Africa? 

(a) 1 and 3  

(b) 2 and 3 

(c) 1 and 2  

(d) Only 3 

45. िनɻिलİखत पर िवचार कीिजए: 

1. दिƗण सूडान 

2. ˢाजीलœड 

3. गैबॉन 

उपयुŊƅ मŐ से कौन-सा/से अůीका का/के देश है/हœ? 

(ए) 1 और 3 

(बी) 2 और 3 

(सी) 1 और 2 

(डी) केवल 3 

45. Ans– (c) 

South Sudan and Swaziland are landlocked countries 
of Africa. 

दिƗण सूडान और ˢाजीलœड अůीका के ˕लŜȠ देश हœ। 

46. Which one of the following is not correctly 
matched? 

(a) Zonda – Argentina 

(b) Mystral – Gulf of Lyons 

(c) Brick Fielder – Australia 

(d) Norwester – Venezuella 

46. िनɻिलİखत मŐ से कौन सा सुमेिलत नही ंहै? 

(ए) ज़ोडंा - अजŒटीना 

(बी) िम Ōː ल - िलयोन की खाड़ी 

(c) िŰक फीʒर - ऑ Ōː ेिलया 

(डी) नॉवőːर – वेनेज़ुएला 

46. Ans– (d) 

The correct match is: 

Zonda – Argentina 

Mystral – Gulf of Lyons 

Brick Fielder – Australia 

Norwester – North New Zealand 

सही सुमेल है: 

ज़ोडंा - अजŒटीना 

िम Ōː ल - िलयोन की खाड़ी 

िŰक फीʒर - ऑ Ōː ेिलया 

नॉवőːर - उȅरी Ɋूजीलœड 

47. Which one of the following pairs is not correctly 
matched? 

(Project)                (River) 
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(a) Chamera –       Rabi 

(b) Salal –              Chinab 

(c) Pong –              Sutlej 

(d) Uri –                 Jhelam 

47. िनɻिलİखत मŐ से कौन-सा युƵ सही सुमेिलत नही ंहै? 

(पįरयोजना)            (नदी) 

(ए) चमेरा -             रबी 

(बी) सलाल-            िचनाब 

(सी) पोगं-               सतलज 

(डी) उरी-               झेलम 

47. Ans– (c) 

Pong Project is situated over river Vyas. This is situated 
in Himachal Pradesh. All others are correctly matched. 

पोगं पįरयोजना ʩास नदी पर İ˕त है। यह िहमाचल Ůदेश मŐ 
İ˕त है। अɊ सभी सही सुमेिलत हœ। 

48. Temperate grassland found in Eurasia region is 
called- 

(a) Prairies  

(b) Steppi 

(c) Weld  

(d) Downs 

48. यूरेिशया Ɨेũ मŐ पाए जाने वाले शीतोˁ घास के मैदान को 
कहते हœ- 

(ए) Ůेयरीज 

(बी) ːेपी 

(सी) वेʒ 

(डी) डाउन 

48. Ans– (b) 

Steppes is a temperate grassland found in the Eurasia 
region. 

ːेपीज़ एक शीतोˁ घास का मैदान है जो यूरेिशया Ɨेũ मŐ पाया 
जाता है। 

49. Consider the following statements: 

1. Art. 312 of the Constitution empowers the 
Parliament to constitute a new All India Service on the 
basis of a resolution of the Rajya Sabha. 

2. Chairman and members of State Public Service 
Commission can be removed by President only. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1, nor 2 

49. िनɻिलİखत कथनो ंपर िवचार कीिजएः  

1. संिवधान का अनुǅेद 312 संसद को राǛ सभा के एक 
संकʙ के आधार पर एक नई अİखल भारतीय सेवा गिठत करने 
का अिधकार देता है। 

2. राǛ लोक सेवा आयोग के अȯƗ और सद˟ो ंको रा Ō̓ पित 
Ȫारा ही हटाया जा सकता है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1, न ही 2 

49. Ans– (c) 

Like any other union, the public services of the centre 
and the states are divided. Both the statements 
mentioned in the question regarding it are correct. 

िकसी भी अɊ संघ की तरह, कŐ ū और राǛो ंकी सावŊजिनक 
सेवाएँ िवभािजत हœ। इससे संबंिधत Ůʲ मŐ उİʟİखत दोनो ंकथन 
सही हœ। 

50. Consider the following statements and choose the 
correct answer with the help of the codes given below: 

Statement (A): An integrated judicial system has been 
established by the constitution. 

Reason (R): This system has been adopted to eliminate 
mutual conflict and confusion between centre and the 
states. 

Code: 
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(a) Both (A) and (R) are correct, (R) is the correct 
explanation of (A). 

(b) Both (A) and (R) are correct but (R) is not the 
correct explanation of (A). 

(c) (A) is correct but (R) is incorrect. 

(d) (A) is incorrect but (R) is correct. 

50. िनɻिलİखत कथनो ंपर िवचार कीिजए और नीचे िदए गए कूट 
की सहायता से सही उȅर चुिनए: 

कथन (ए): संिवधान Ȫारा एक एकीकृत Ɋाियक Ůणाली ˕ािपत 
की गई है। 

कारण (R) : कŐ ū और राǛो ंके बीच आपसी संघषŊ और űम को 
खȏ करने के िलए इस Ůणाली को अपनाया गया है। 

कोड: 

(ए) दोनो ं(ए) और (आर) सही हœ, (आर) (ए) का सही ˙ʼीकरण 
है। 

(बी) दोनो ं(ए) और (आर) सही हœ लेिकन (आर) (ए) का सही 
˙ʼीकरण नही ंहै। 

(सी) (ए) सही है लेिकन (आर) गलत है। 

(डी) (ए) गलत है लेिकन (आर) सही है। 

50. Ans– (a) 

Assertion (A) and Reason (R) both are correct and 
Reason (R) is the correct explanation of the Assertion 
(A). 

कथन (A) और कारण (R) दोनो ंसही हœ और कारण (R), कथन 
(A) की सही ʩाƥा है। 

51. Which one of the following is/are included in the 
Federal Political System? 

1. Relation between Union and States 

2. System for coordination 

3. System for resolving disputes 

Code: 

(a) 1 and 2  

(b) 2 and 3 

(c) 1 and 3  

(d) All of the above 

51. िनɻिलİखत मŐ से कौन-सा/से संघीय राजनीितक ʩव˕ा मŐ 
शािमल है/हœ? 

1. संघ और राǛो ंके बीच संबंध 

2. समɋय के िलए Ůणाली 

3. िववादो ंको सुलझाने की Ůणाली 

कोड : 

(ए) 1 और 2  

(बी) 2 और 3 

(सी) 1 और 3  

(डी) उपरोƅ सभी 

51. Ans– (d) 

All mentioned in the question are included in the 
federal political system. 

Ůʲ मŐ उİʟİखत सभी संघीय राजनीितक Ůणाली मŐ शािमल हœ। 

52. A resolution passed by the Rajya Sabha under 
Article 249 will remain in force for the period of: 

(a) Six Months  

(b) One Year 

(c) Three Years  

(d) Six Years 

52. अनुǅेद 249 के अधीन राǛ सभा Ȫारा पाįरत संकʙ 
िकतने समय तक Ůभावी रहेगा: 

(ए) छह महीने 

(बी) एक वषŊ 

(सी) तीन साल 

(डी) छह साल 

52. Ans– (b) 

Article 249 of the Indian Constitution is related with 
the legislative power of the Parliament with respect to 
the subjects of State List. A resolution passed by the 
Rajya Sabha under Article 249 will remain in force for 
one year. 

भारतीय संिवधान का अनुǅेद 249 राǛ सूची के िवषयो ंके संबंध 
मŐ संसद की िवधायी शİƅ से संबंिधत है। अनुǅेद 249 के तहत 
राǛ सभा Ȫारा पाįरत एक Ůˑाव एक वषŊ के िलए लागू रहेगा। 
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53. Which of the following statements regarding 
“Preventive Detention” is/are correct? 

1. Its objective is to prevent any person from 
committing crime. 

2. Under it, govt. can arrest any person under custody 
only for four months, 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

53. "िनवारक िहरासत" के संबंध मŐ िनɻिलİखत मŐ से कौन सा/से 
कथन सही है/हœ? 

1. इसका उȞेʴ िकसी भी ʩİƅ को अपराध करने से रोकना है। 

2. इसके तहत, सरकार। िकसी भी ʩİƅ को केवल चार महीने 
की िहरासत मŐ िगरɞार कर सकता है, 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

53. Ans– (a) 

– Article 22, Part (4) to (7) are regarding Preventive 
Detention. Under Preventive Detention Law any person 
is arrested before committing crime. The objective of it 
is to prevent any person from committing crime. 

– Under it, government can detain any person in 
custody only for three months. 

- अनुǅेद 22, भाग (4) से (7) िनवारक िनरोध के संबंध मŐ हœ। 
िनवारक िनरोध कानून के तहत िकसी भी ʩİƅ को अपराध 
करने से पहले िगरɞार िकया जाता है। इसका उȞेʴ िकसी भी 
ʩİƅ को अपराध करने से रोकना है। 

- इसके तहत सरकार िकसी भी ʩİƅ को केवल तीन महीने तक 
ही िहरासत मŐ रख सकती है। 

54. Which of the following statements is/are correct? 

1. Rajya Sabha can amend Money Bill but can’t reject it. 

2. Voting on Demand of Grants takes place in both of 
the houses. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

54. िनɻिलİखत मŐ से कौन सा/से कथन सही है/हœ? 

1. राǛ सभा धन िवधेयक मŐ संशोधन कर सकती है लेिकन उसे 
अˢीकार नही ंकर सकती है। 

2. दोनो ंसदनो ंमŐ अनुदान की मांग पर मतदान होता है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

54. Ans– (d) 

Rajya Sabha returns Money Bill with its 
recommendations to the Lok Sabha within 14 days but 
Lok Sabha is free to accept or reject any 
recommendation. If Rajya Sabha does not returns the 
money bill to Lok Sabha within 14 days then it will be 
considered by both the houses in the same form. So 
Rajya Sabha has no powers to amend or reject money 
bill. According to article 113(2), demand of grants will 
be presented in Lok Sabha and it has rights to vote on 
that, not to Rajya Sabha. 

राǛसभा 14 िदनो ंके भीतर अपनी िसफाįरशो ंके साथ लोकसभा 
को धन िवधेयक लौटाती है लेिकन लोकसभा िकसी भी िसफाįरश 
को ˢीकार या अˢीकार करने के िलए ˢतंũ है। यिद राǛसभा 
14 िदनो ंके भीतर धन िवधेयक को लोकसभा को वापस नही ं
करती है तो दोनो ंसदनो ंȪारा एक ही ŝप मŐ इस पर िवचार िकया 
जाएगा। इसिलए राǛसभा के पास धन िवधेयक मŐ संशोधन या 
अˢीकार करने की कोई शİƅ नही ंहै। अनुǅेद 113(2) के 
अनुसार अनुदान की मांग लोक सभा मŐ Ůˑुत की जायेगी और 
उसे उस पर मत देने का अिधकार है, राǛ सभा को नही।ं 

55. In India Patent Act was firstly passed in the year: 

(a) 1970  

(b) 1972 
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(c) 1982  

(d) 1980 

55. भारत मŐ पेटŐट अिधिनयम सबसे पहले िकस वषŊ मŐ पाįरत 
िकया गया था: 

(ए) 1970 

(बी) 1972 

(सी) 1982 

(डी) 1980 

55. Ans– (a) 

Patent is a legal right, after getting this, the person or 
the organisation which invent or make the product 
then it gets sole rights for manufacturing the product. 

पेटŐट एक कानूनी अिधकार है, इसे Ůाɑ करने के बाद, जो ʩİƅ 
या सं˕ा उȋाद का आिवʺार या िनमाŊण करती है, उसे उȋाद 
के िनमाŊण का एकमाũ अिधकार िमल जाता है। 

56. Match List-I with List-II and choose the correct 
answer with the help of given codes: 

List-I                                                            List-II 

(Subject)                                                     (List) 

(a) Population Control & Family Planning 1. Centre List 

(b) Space                                                    2. State List 

(c) Public Health                                         3. Concurrent 

(d) Census                                                  4. Residuary 

Code: 

     A B C D 

(a) 3 4 2 1 

(b) 4 3 1 2 

(c) 2 1 4 3 

(d) 1 4 3 2 

56. सूची-I को सूची-II से सुमेिलत कीिजए और िदए गए कूट की 
सहायता से सही उȅर चुिनए: 

सूची-I                                                       सूची-II 

(िवषय)                                                     (सूची) 

(ए) जनसंƥा िनयंũण और पįरवार िनयोजन 1. कŐ ū सूची 

(बी) अंतįरƗ                                2. राǛ सूची 

(सी) सावŊजिनक ˢा˖                 3. समवतŎ 

(डी) जनगणना                              4. अविशʼ 

कोड : 

    ऐ बी सी डी 

(ए) 3 4 2 1 

(बी) 4 3 1 2 

(सी) 2 1 4 3 

(डी) 1 4 3 2 

56. Ans– (a) 

The correct match is: 

(Subject)                                                 (List) 

Population Control & Family Planning – Concurrent List 

Space – Residuary List 

Public Health – State List 

Census – Centre List 

सही सुमेल है: 

(िवषय)                                             (सूची) 

जनसंƥा िनयंũण एवं पįरवार िनयोजन - समवतŎ सूची 

अंतįरƗ - अविशʼ सूची 

सावŊजिनक ˢा˖ - राǛ सूची 

जनगणना - कŐ ū सूची 

57. Which of the following pairs is/are correctly 
matched? 

1. Article 40: Constitution of Village Panchayats 

2. Article 50: Isolation of Judiciary from executive 

3. Article 45: Pre-childhood care and the education of 
children below 6 years 

Code: 

(a) 1 and 2  

(b) 2 and 3 

(c) 1 and 3  

(d) All of the above 



                                                                                                                                                                                

For Complete Test Series, Study Material, Notes, Ncert Gist Books & Question Bank WhatsApp on 9896160956 

HCS 2023 TEST – 1, A complete & Targeted Test Series for HCS 2023 

www.studymasterofficial.com 
57. िनɻिलİखत युƵो ंमŐ से कौन-सा/से सही सुमेिलत है/हœ? 

1. अनुǅेद 40: Ťाम पंचायतो ंका गठन 

2. अनुǅेद 50: कायŊपािलका से Ɋायपािलका का अलगाव 

3. अनुǅेद 45: 6 वषŊ से कम आयु के बǄो ंकी पूवŊ-बचपन 
देखभाल और िशƗा 

कोड : 

(ए) 1 और 2 

(बी) 2 और 3 

(सी) 1 और 3 

(डी) उपरोƅ सभी 

57. Ans– (d) 

All the pairs mentioned in the question are correctly 
matched. 

Ůʲ मŐ उİʟİखत सभी जोड़े सही सुमेिलत हœ। 

58. Which of the following features of Indian 
constitution have been taken from the British 
Constitution? 

1. The rule of law. 

2. Process of making laws. 

3. Freedom to Judiciary 

4. Parliamentary System. 

Code: 

(a) 1 and 2  

(b) 2, 3 and 4 

(c) 1 and 4  

(d) 1, 2 and 4 

58. भारतीय संिवधान की िनɻिलİखत मŐ से कौन-सी िवशेषता 
िŰिटश संिवधान से ली गई है? 

1. कानून का शासन। 

2. कानून बनाने की ŮिŢया। 

3. Ɋायपािलका को ˢतंũता 

4. संसदीय Ůणाली। 

कोड : 

(ए) 1 और 2 

(बी) 2, 3 और 4 

(सी) 1 और 4 

(डी) 1, 2 और 4 

58. Ans– (d) 

The freedom of judiciary has been taken from the 
constitution of America. 

Ɋायपािलका की ˢतंũता अमेįरका के संिवधान से ली गई है। 

59. Which one of the following can authorise the 
parliament for the creation of new All India Services for 
State and Centre both? 

(a) Rajya Sabha  

(b) Lok Sabha 

(c) President  

(d) Supreme Court 

59. िनɻिलİखत मŐ से कौन राǛ और कŐ ū दोनो ंके िलए नई 
अİखल भारतीय सेवाओ ंके िनमाŊण के िलए संसद को अिधकृत 
कर सकता है? 

(ए) राǛसभा 

(बी) लोकसभा 

(सी) रा Ō̓ पित 

(डी) सुŮीम कोटŊ 

59. Ans– (a) 

Under article 312, Rajya Sabha can authorise 
Parliament for the creation of new All India Service for 
both Centre and State. 

अनुǅेद 312 के तहत, राǛसभा कŐ ū और राǛ दोनो ंके िलए 
नई अİखल भारतीय सेवा के िनमाŊण के िलए संसद को अिधकृत 
कर सकती है। 

60. Which of the following statements regarding Vice 
President is not correct? 

(a) He should have the eligibility for being elected as 
the member of Rajya Sabha. 

(b) He can be removed from the post through formal 
impeachment. 

(c) He is elected by members of Rajya Sabha and Lok 
Sabha. 
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(d) All the statements are correct. 

60. उपरा Ō̓ पित के संबंध मŐ िनɻिलİखत मŐ से कौन सा कथन सही 
नही ंहै? 

(ए) उसके पास राǛ सभा के सद˟ के ŝप मŐ चुने जाने की 
योƶता होनी चािहए। 

(बी) उसे औपचाįरक महािभयोग Ȫारा पद से हटाया जा सकता है। 

(सी) वह राǛसभा और लोकसभा के सद˟ो ंȪारा चुना जाता है। 

(डी) सभी बयान सही हœ। 

60. Ans– (b) 

To remove president from his post there is no 
requirement for formal impeachment. He can be 
removed by the passing the pledge by absolute 
majority and the consent of Lok Sabha is necessary. 

रा Ō̓ पित को उनके पद से हटाने के िलए औपचाįरक महािभयोग 
की कोई आवʴकता नही ंहै। उसे पूणŊ बŠमत से Ůितǒा पाįरत 
करके हटाया जा सकता है और लोकसभा की सहमित आवʴक 
है। 

61. In which of the following situations there is a 
provision of Joint Meeting in Parliament? 

(a) If the bill is rejected by the other house. 

(b) If the other house is disagreed with the 
amendments made in the bill. 

(c) If more than six months period has been lapsed 
after the passing of a bill by the other house. 

(d) In all of the above situations there is a provision of 
joint meeting. 

61. िनɻिलİखत मŐ से िकस İ˕ित मŐ संसद मŐ संयुƅ बैठक का 
Ůावधान है ? 

(ए) यिद िबल दूसरे सदन Ȫारा अˢीकार कर िदया गया है। 

(बी) यिद दूसरा सदन िवधेयक मŐ िकए गए संशोधनो ंसे असहमत 
है। 

(सी) यिद दूसरे सदन Ȫारा िवधेयक पाįरत करने के बाद छह 
महीने से अिधक की अविध समाɑ हो गई है। 

(डी) उपरोƅ सभी İ˕ितयो ंमŐ संयुƅ बैठक का Ůावधान है। 

61. Ans– (d) 

In all the circumstances mentioned in the question, 
there is a provision for the joint meeting. 

Ůʲ मŐ उİʟİखत सभी पįरİ˕ितयो ंमŐ संयुƅ बैठक का Ůावधान 
है। 

62. Which one of the following is not a permanent 
committee of the parliament? 

(a) Advisory Committee of Ministry of Finance 

(b) Public Accounts Committee 

(c) Estimate Committee 

(d) Committee on Public Undertakings 

62. िनɻिलİखत मŐ से कौन संसद की ˕ायी सिमित नही ंहै? 

(ए) िवȅ मंũालय की सलाहकार सिमित 

(बी) लोक लेखा सिमित 

(सी) Ůाſलन सिमित 

(डी) सावŊजिनक उपŢमो ंपर सिमित 

62. Ans– (a) 

Public Accounts Committee, Estimate Committee and 
Committee on Public Undertakings are permanent 
Financial Committees of the Parliament. 

लोक लेखा सिमित, Ůाſलन सिमित और सावŊजिनक उपŢम 
सिमित संसद की ˕ायी िवȅीय सिमितयाँ हœ। 

63. Which one of the following statements regarding 
the Ordinance issued by President is incorrect? 

(a) This is issued during the non-operation of session 
of both or either one of houses. 

(b) The impact of this is like the act made by the 
parliament. 

(c) The approval of this should be done within the six 
weeks of the start of parliament session. 

(d) None of these. 

63. रा Ō̓ पित Ȫारा जारी अȯादेश के संबंध मŐ िनɻिलİखत मŐ से 
कौन सा कथन गलत है? 

(ए) यह दोनो ंया िकसी एक सदन के सũ के संचालन के दौरान 
जारी नही ंिकया जाता है। 

(बी) इसका Ůभाव संसद Ȫारा बनाए गए अिधिनयम के समान 
होता है। 

(सी) इसका अनुमोदन संसद सũ Ůारंभ होने के छह सɑाह के 
भीतर िकया जाना चािहए। 
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(डी) इनमŐ से कोई नही।ं 

63. Ans– (d) 

All the statements given in the question are correct. 

Ůʲ मŐ िदए गए सभी कथन सही हœ। 

64. By which of the following constitutional 
amendments the elected members of Delhi and 
Puducherry legislative assemblies have been included 
in the electoral board? 

(a) 69th Constitutional Amendment 

(b) 70th Constitutional Amendment 

(c) 83rd Constitutional Amendment 

(d) 87th Constitutional Amendment 

64. िनɻिलİखत मŐ से िकस संवैधािनक संशोधन Ȫारा िदʟी और 
पुडुचेरी िवधानसभाओ ंके िनवाŊिचत सद˟ो ंको िनवाŊचक मंडल मŐ 
शािमल िकया गया है? 

(ए) 69वां संिवधान संशोधन 

(बी) 70वां संिवधान संशोधन 

(सी) 83वां संिवधान संशोधन 

(डी) 87वां संिवधान संशोधन 

64. Ans– (b) 

By 70th Constitutional Amendment the elected 
members of Delhi and Puducherry legislative 
assemblies have been included in the electoral board 
of president. 

70वŐ संिवधान संशोधन Ȫारा िदʟी और पुडुचेरी िवधान सभाओ ं
के िनवाŊिचत सद˟ो ंको रा Ō̓ पित के िनवाŊचन मंडल मŐ शािमल 
िकया गया है। 

65. At the central level, Urban Local Governance 
subject is related to which of the following ministries? 

1. Ministry of Urban Development 

2. Ministry of Finance 

3. Ministry of Defence 

4. Ministry of Home Affairs 

Code: 

(a) Only 1  

(b) 1, 3 and 4 

(c) 2, 3 and 4  

(d) All of the above 

65. केȾीय ˑर पर शहरी ˕ानीय शासन का िवषय िनɻिलİखत 
मŐ से िकस मंũालय से संबंिधत है? 

1. शहरी िवकास मंũालय 

2. िवȅ मंũालय 

3. रƗा मंũालय 

4. गृह मंũालय 

कोड : 

(ए) केवल 1 

(बी) 1, 3 और 4 

(सी) 2, 3 और 4 

(डी) उपरोƅ सभी 

65. Ans– (b) 

Ministry of Urban Development, Ministry of Defence 
(Cantonment Board) and Ministry of Home Affairs 
(Federal Territory) are related with Urban Local 
Governance. 

शहरी िवकास मंũालय, रƗा मंũालय (छावनी बोडŊ) और गृह 
मंũालय (संघीय Ɨेũ) शहरी ˕ानीय Ůशासन से संबंिधत हœ। 

66. Which of the following is/are the provisions in 
which special majority and approval of half the states 
are mandatory for amendment? 

(a) Representation of States in the Parliament 

(b) Supreme Court and High courts 

(c) President’ Election 

(d) All of the above 

66. िनɻिलİखत मŐ से कौन-सा/से Ůावधान है/हœ िजसमŐ संशोधन 
के िलए िवशेष बŠमत और आधे राǛो ंकी ˢीकृित अिनवायŊ है? 

(ए) संसद मŐ राǛो ंका Ůितिनिधȕ 

(बी) सवŖǄ Ɋायालय और उǄ Ɋायालय 

(सी) रा Ō̓ पित का चुनाव 

(डी) उपरोƅ सभी 

66. Ans– (d) 
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On the basis of the provisions described under Article 
368, the provisions of the Constitution relating to the 
federal structure can be amended by a special majority 
of the Parliament. The approval of the legislatures of 
half the states is also mandatory for these provisions. It 
is mandatory for all the provisions mentioned in the 
question. 

अनुǅेद 368 के तहत विणŊत Ůावधानो ंके आधार पर संघीय ढांचे 
से संबंिधत संिवधान के Ůावधानो ंको संसद के िवशेष बŠमत से 
संशोिधत िकया जा सकता है। इन Ůावधानो ंके िलए आधे राǛो ं
की िवधानसभाओ ंकी ˢीकृित भी अिनवायŊ है। Ůʲ मŐ उİʟİखत 
सभी Ůावधानो ंके िलए यह अिनवायŊ है। 

67. In which one of the following cases, the Parliament 
emphasized on maintaining harmony and balance 
between the Fundamental Rights and the Directive 
Principles of Policy? 

(a) Golaknath Case 

(b) Minerva Mills Case 

(c) S.R. Bommai Case 

(d) Raghunath Rao Case 

67. िनɻिलİखत मŐ से िकस मामले मŐ, संसद ने मौिलक अिधकारो ं
और नीित िनदőशक िसȠांतो ंके बीच सामंज˟ और संतुलन बनाए 
रखने पर जोर िदया? 

(ए) गोलकनाथ केस 

(बी) िमनवाŊ िमʤ केस 

(सी) एस.आर. बोʃई केस 

(डी) रघुनाथ राव केस 

67. Ans– (b) 

In the Minerva Mills case, the Parliament emphasized 
on maintaining harmony and balance between the 
Fundamental Rights and the Directive Principles of 
Policy. 

िमनवाŊ िमʤ मामले मŐ, संसद ने मौिलक अिधकारो ंऔर नीित 
िनदőशक िसȠांतो ंके बीच सामंज˟ और संतुलन बनाए रखने पर 
बल िदया। 

68. By which one of the following Constitutional 
Amendments, President's assent to the 'Constitution 
Amendment Bill' has been made mandatory? 

(a) 42nd Constitutional Amendment 

(b) 44th Constitutional Amendment 

(c) 52nd Constitutional Amendment 

(d) 61st Constitutional Amendment 

68. िनɻिलİखत मŐ से िकस संवैधािनक संशोधन Ȫारा 'संिवधान 
संशोधन िवधेयक' पर रा Ō̓ पित की ˢीकृित अिनवायŊ कर दी गई 
है? 

(ए) 42वां संिवधान संशोधन 

(बी) 44वां संिवधान संशोधन 

(सी) 52वां संिवधान संशोधन 

(डी) 61वां संिवधान संशोधन 

68. Ans– (b) 

President's assent to the 'Constitution Amendment Bill' 
has been made mandatory by the 44th Constitutional 
Amendment 1978. 

44वŐ संिवधान संशोधन 1978 Ȫारा 'संिवधान संशोधन िवधेयक' पर 
रा Ō̓ पित की ˢीकृित अिनवायŊ कर दी गई है। 

69. The boundaries of Eurasian Country Turkey does 
not touch which one of the following seas ? 

(a) Black Sea 

(b) Caspian Sea 

(c) Murmara Sea 

(d) Mediterranean Sea 

69. यूरेिशयन देश तुकŎ की सीमाएँ िनɻिलİखत मŐ से िकस समुū 
को नही ंछूती हœ? 

(ए) काला सागर 

(बी) कैİ˙यन सागर 

(सी) मुरमरा सागर 

(डी) भूमȯ सागर 

69. Ans– (b) 

The boundaries of Eurasian Country Turkey do not 
touch Caspian Sea. 

यूरेिशयन देश तुकŎ की सीमा कैİ˙यन सागर को नही ंछूती है। 

70. Consider the following statements and choose the 
correct answer with the help of the codes given below: 

Assertion (A): In general, igneous rocks are found most 
on Earth. 
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Reason (R): Two-third of the earth’s crust is made up of 
these rocks. 

Code: 

(a) Both (A) and (R) are correct, (R) is the correct 
explanation of (A) 

(b) Both (A) and (R) are correct but (R) is not the 
correct explanation of (A) 

(c) (A) is correct but (R) is incorrect 

(d) (A) is incorrect but (R) is correct. 

70. िनɻिलİखत कथनो ंपर िवचार कीिजए और नीचे िदए गए कूट 
की सहायता से सही उȅर चुिनए: 

अिभकथन (A) : सामाɊतः  आưेय चǥानŐ पृțी पर सवाŊिधक पाई 
जाती हœ। 

कारण (R) : पृțी की पपड़ी का दो-ितहाई भाग इɎी ंचǥानो ंसे 
बना है। 

कोड: 

(ए) दोनो ं(ए) और (आर) सही हœ, (आर) (ए) का सही ˙ʼीकरण है 

(बी) दोनो ं(ए) और (आर) सही हœ लेिकन (आर) (ए) का सही 
˙ʼीकरण नही ंहै 

(सी) (ए) सही है लेिकन (आर) गलत है 

(डी) (ए) गलत है लेिकन (आर) सही है। 

70. Ans– (a) 

Assertion (A) and Reason (R) both mentioned in the 
question are correct and Reason (R) is the correct 
explanation of Assertion (A). 

Ůʲ मŐ उİʟİखत अिभकथन (A) और कारण (R) दोनो ंसही हœ 
और कारण (R) अिभकथन (A) की सही ʩाƥा है। 

71. Consider the following: 

1. Gibson  

2. Great Sandy 

3. Negeva  

4. Great Victoria 

Which of the above deserts is/are situated in Australian 
Continent? 

(a) 1, 2 and 4  

(b) 2, 3 and 4 

(c) 1, 2 and 3  

(d) All of the above 

71. िनɻिलİखत पर िवचार कीिजए: 

1. िगɵन 

2. Ťेट सœडी 

3. नेगेवा 

4. Ťेट िवƃोįरया 

उपयुŊƅ मŐ से कौन-सा/से मŜ˕ल ऑ Ōː ेिलयाई महाȪीप मŐ İ˕त 
है/हœ? 

(ए) 1, 2 और 4 

(बी) 2, 3 और 4 

(सी) 1, 2 और 3 

(डी) उपरोƅ सभी 

71. Ans– (a) 

Negeva desert is situated in South Israel while Gibson, 
Great Sandy, Great Victoria, Simpson etc. deserts are 
situated in Australian continent. 

नेगेवा रेिगˑान दिƗण इज़राइल मŐ İ˕त है जबिक िगɵन, Ťेट 
सœडी, Ťेट िवƃोįरया, िसɼसन आिद रेिगˑान ऑ Ōː ेिलयाई 
महाȪीप मŐ İ˕त हœ। 

72. Which of the following plateaus is situated between 
Iravady and Salween rivers? 

(a) Plateau of Huawei 

(b) Shan Plateau 

(c) Kol Dam Plateau 

(d) Plateau of Malaya 

72. िनɻिलİखत मŐ से कौन सा पठार इरावदी और सालवीन निदयो ं
के बीच İ˕त है? 

(ए) Šआवेई का पठार 

(बी) शान पठार 

(सी) कोल बांध पठार 

(d) मलाया का पठार 

72. Ans– (b) 
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Shan Plateau is situated between Iravady and Salween 
rivers in Myanmar. It is enriched with the mineral 
resources. 

शान पठार ʄांमार मŐ इरावडी और सालवीन निदयो ंके बीच İ˕त 
है। यह खिनज संसाधनो ंसे समृȠ है। 

73. Which of the following is not an objective of World 
Trade Organisation? 

(a) Increasing social competitiveness among member 
countries. 

(b) Determining and enforcing rules for international 
trade. 

(c) Resolving trade disputes. 

(d) Accepting the concept of sustainable development. 

73. िनɻिलİखत मŐ से कौन सा िवʷ ʩापार संगठन का उȞेʴ 
नही ंहै? 

(ए) सद˟ देशो ंके बीच बढ़ती सामािजक Ůित˙धाŊ। 

(बी) अंतराŊ Ō̓ ीय ʩापार के िलए िनयमो ंका िनधाŊरण और लागू 
करना। 

(सी) ʩापार िववादो ंको हल करना। 

(डी) सतत िवकास की अवधारणा को ˢीकार करना। 

73. Ans– (a) 

World Trade Organisation was established in the year 
1995. Increasing social competitiveness among 
member countries is not its objective. 

िवʷ ʩापार संगठन की ˕ापना वषŊ 1995 मŐ Šई थी। सद˟ देशो ं
मŐ सामािजक Ůित˙धाŊ बढ़ाना इसका उȞेʴ नही ंहै। 

74. Consider the following statements regarding Indian 
National Share Market: 

1. It was established in 1992 on the recommendations 
of Pherwani Committee. 

2. Its headquarters is in Delhi. 

Which of the above statements is/are incorrect? 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

74. भारतीय रा Ō̓ ीय शेयर बाजार के संबंध मŐ िनɻिलİखत कथनो ं
पर िवचार करŐ : 

1. इसकी ˕ापना 1992 मŐ फेरवानी सिमित की िसफाįरशो ंपर 
की गई थी। 

2. इसका मुƥालय िदʟी मŐ है। 

उपरोƅ कथनो ंमŐ से कौन-सा/से गलत है/हœ? 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

74. Ans– (b) 

The headquarters of Indian National Share Market is in 
Mumbai. 

भारतीय रा Ō̓ ीय शेयर बाजार का मुƥालय मंुबई मŐ है। 

75. Which of the following is also called ‘Stock Market’ 
? 

(a) Primary Industrial Security Market 

(b) Secondary Industrial Security Market 

(c) Vikas Vitta Sansthan 

(d) None of these. 

75. िनɻिलİखत मŐ से िकसे 'शेयर बाजार' भी कहा जाता है ? 

(ए) Ůाथिमक औȨोिगक सुरƗा बाजार 

(बी) माȯिमक औȨोिगक सुरƗा बाजार 

(सी) िवकास िवȅ सं˕ान 

(डी) इनमŐ से कोई नही।ं 

75. Ans– (b) 

Secondary Industrial Security Market is also called as 
‘Stock Market’. 

िȪतीयक औȨोिगक सुरƗा बाजार को 'ːॉक माकő ट' भी कहा 
जाता है। 

76. Choose the correct statements regarding Monetary 
Policy: 

1. Low and stable inflation, financial stability and 
inclusive growth is its goal. 
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2. Reserve Bank of India declares monetary policy six 
times in every financial year. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

76. मौिūक नीित के संबंध मŐ सही कथनो ंका चयन करŐ : 

1. िनɻ और İ˕र मुūा˛ीित, िवȅीय İ˕रता और समावेशी 
िवकास इसका लƙ है। 

2. भारतीय įरजवŊ बœक Ůȑेक िवȅीय वषŊ मŐ छह बार मौिūक नीित 
की घोषणा करता है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

76. Ans– (c) 

Both the statements regarding Monetary Policy, 
mentioned in the question are correct. 

Ůʲ मŐ उİʟİखत मौिūक नीित के संबंध मŐ दोनो ंकथन सही हœ। 

77. Consider the following: 

1. Minimum Needs Programme 

2. Establishment of Regional Rural Banks 

3. Food for Work Programme 

All of the above are the features of which Five Year 
Plan? 

(a) Fourth Five Year Plan 

(b) Fifth Five Year Plan 

(c) Sixth Five Year Plan 

(d) Seventh Five Year Plan 

77. िनɻिलİखत पर िवचार कीिजए: 

1. Ɋूनतम आवʴकता कायŊŢम 

2. Ɨेũीय Ťामीण बœको ंकी ˕ापना 

3. काम के बदले अनाज कायŊŢम 

उपरोƅ सभी िकस पंचवषŎय योजना की िवशेषताएं हœ? 

(ए) चौथी पंचवषŎय योजना 

(बी) पांचवी ंपंचवषŎय योजना 

(सी) छठी पंचवषŎय योजना 

(डी) सातवी ंपंचवषŎय योजना 

77. Ans– (b) 

All mentioned in the question are related with Fifth 
Five Year Plan. 

Ůʲ मŐ उİʟİखत सभी पांचवी ंपंचवषŎय योजना से संबंिधत हœ। 

78. Match List-I with List-II and choose the correct 
answer with the help of given codes: 

List-I                                  List-II 

(Committee)                   (Estb. Year) 

(a) Goiporia Committee 1. 1990 

(b) Raja Chelliah Comm. 2. 1991 

(c) Janki Raman Comm. 3. 1992 

(d) Tarapore Committee 4. 1997 

Code: 

    A B C D 

(a) 1 2 3 4 

(b) 2 1 4 3 

(c) 1 3 2 4 

(d) 4 3 2 1 

78. सूची-I को सूची-II से सुमेिलत कीिजए और िदए गए कूट की 
सहायता से सही उȅर चुिनए: 

सूची-I                           सूची-II 

(सिमित)                       (˕ा. वषŊ) 

(ए) गोइपोįरया सिमित      1. 1990 

(बी) राजा चेिलया कॉम।    2. 1991 

(सी) जानकी रमन कॉम।   3. 1992 

(डी) तारापोर सिमित         4. 1997 

कोड: 
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ऐ बी सी डी 

(ए) 1 2 3 4 

(बी) 2 1 4 3 

(सी) 1 3 2 4 

(डी) 4 3 2 1 

78. Ans– (a) 

The correct match is: 

(Committee)                (Estb. Year) 

Goiporia Committee – 1990 (Banking Services Reforms) 

Raja Chelliah Comm. – 1991 (Tax Reforms) 

Janki Raman Comm. – 1992 (Securities Scam) 

Tarapore Committee – 1997 (Convertibility of Rupees 
in Capital Account) 

सही सुमेल है: 

(सिमित) (˕ा. वषŊ) 

गोइपोįरया सिमित - 1990 (बœिकंग सेवा सुधार) 

राजा चेİʟया कॉम। - 1991 (कर सुधार) 

जानकी रमन कॉम. - 1992 (Ůितभूित घोटाला) 

तारापोर सिमित - 1997 (पँूजी खाते मŐ Ŝपये की पįरवतŊनीयता) 

79. In his travelogue, Chinese traveller Hiuen Tsang has 
mentioned Ataranjikhera as: 

(a) Yen-Tu 

(b) Ye-Tu-Shan 

(c) Pi-Lo-Shan 

(d) None of these 

79. चीनी याũी ˪ेनसांग ने अपने याũा वृतांत मŐ अतरंजीखेड़ा का 
उʟेख इस Ůकार िकया है: 

(ए) येन-टू 

(बी) ये-तू-शान 

(सी) पी-लो-शान 

(डी) इनमŐ से कोई नही ं

79. Ans– (c) 

Chinese traveller Hiuen Tsang has mentioned 
Ataranjikhera as ‘Pi-Lo-Shan’. 

चीनी याũी ˪ेन Ȗांग ने अतरंजीखेड़ा का उʟेख 'पी-लो-शान' के 
ŝप मŐ िकया है। 

80.In which form plants generally absorb the Nitrogen 
from the soil through its roots? 

(a) Nitrite  

(b) Amide 

(c) Ammonia  

(d) Nitrate 

80. पौधे आमतौर पर अपनी जड़ो ंके माȯम से िमǥी से नाइटŌ ोजन 
को िकस ŝप मŐ अवशोिषत करते हœ? 

(ए) नाइटŌ ाइट 

(बी) एमाइड 

(सी) अमोिनया 

(डी) नाइटŌ ेट 

80. Ans– (d) 

Plants generally absorb the Nitrogen from the soil 
through its roots in Nitrate form.  

पौधे आमतौर पर नाइटŌ ोजन को नाइटŌ ेट के ŝप मŐ अपनी जड़ो ंके 
माȯम से िमǥी से अवशोिषत करते हœ। 

81. Blood Group was invented by? 

(a) William Harvey  

(b) Robert Koch 

(c) Karl Landsteiner  

(d) Luee Poscher 

81. ɰड Ťुप का आिवʺार िकसके Ȫारा िकया गया था? 

(ए) िविलयम हावő 

(बी) रॉबटŊ कोच 

(सी) कालŊ लœडːीनर 

(डी) लुई पॉशर 

81. Ans– (c) 

Blood Group was invented by Karl Landsteiner. 

ɰड Ťुप का आिवʺार कालŊ लœडːीनर ने िकया था। 
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82. From which one of the following places the 
evidence of cultivation of cotton in ancient times has 
been found? 

(a) Alamgirpur 

(b) Sarainahar Rai 

(c) Ataranjikhera 

(d) Kushinagar 

82. िनɻिलİखत मŐ से िकस ˕ान से Ůाचीन काल मŐ कपास की 
खेती के Ůमाण िमले हœ? 

(ए) आलमगीरपुर 

(बी) सरायनहर राय 

(सी) अतरंजीखेरा 

(डी) कुशीनगर 

82. Ans– (a) 

From Alamgirpur, the evidence of cultivation of cotton 
in ancient times has been found. 

आलमगीरपुर से Ůाचीन काल मŐ कपास की खेती के Ůमाण िमले 
हœ। 

83. Consider the following statements regarding 
‘Environment Protection Act 1986’ : 

1. This Act was passed for the implementation in the 
Stockholm Conference, 1972. 

2. This law is Voluntary. There is no provision of 
punishment in this. 

Choose the correct statements from the above? 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

83. 'पयाŊवरण संरƗण अिधिनयम 1986' के संबंध मŐ िनɻिलİखत 
कथनो ंपर िवचार कीिजए: 

1. यह अिधिनयम ːॉकहोम सʃेलन, 1972 मŐ कायाŊɋयन के 
िलए पाįरत िकया गया था। 

2. यह कानून ˢैİǅक है। इसमŐ सजा का Ůावधान नही ंहै। 

उपरोƅ मŐ से सही कथनो ंका चयन करŐ? 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

83. Ans– (a) 

Environmental Protection Act 1986 is a binding 
agreement and not a voluntary one. There is a 
provision of punishment in it. So, statement (2) is 
incorrect. 

पयाŊवरण संरƗण अिधिनयम 1986 एक बाȯकारी समझौता है न 
िक ˢैİǅक। इसमŐ सजा का Ůावधान है। अत: कथन (2) गलत 
है। 

84. Electric Generator Converts: 

(a) Mechanical Energy into Electrical Energy 

(b) Electrical Energy into Mechanical Energy 

(c) Chemical Energy into Mechanical Energy 

(d) Mechanical Energy into Sound Energy 

84. िवद्युत जिनũ पįरवितŊत करता है: 

(ए) यांिũक ऊजाŊ को िवद्युत ऊजाŊ मŐ 

(बी) िवद्युत ऊजाŊ को यांिũक ऊजाŊ मŐ 

(सी) रासायिनक ऊजाŊ को यांिũक ऊजाŊ मŐ 

(डी) यांिũक ऊजाŊ को Ȱिन ऊजाŊ मŐ 

84. Ans– (a) 

Electric Generator Converts Mechanical Energy into 
Electrical Energy. 

िवद्युत जिनũ यांिũक ऊजाŊ को िवद्युत ऊजाŊ मŐ पįरवितŊत करता 
है। 

85. Which of the following statements is/are incorrect? 

1. India is divided into 25 Bio-Geographic regions. 

2. The base of this division are Altitude, topography 
and rain etc. 

Code: 

(a) Only 1  

(b) Only 2 

(c) Both 1and 2  
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(d) Neither 1 nor 2 

85. िनɻिलİखत मŐ से कौन सा/से कथन गलत है/हœ? 

1. भारत 25 जैव-भौगोिलक Ɨेũो ंमŐ िवभािजत है। 

2. इस िवभाजन का आधार ऊँचाई, ˕लाकृित और वषाŊ आिद हœ। 

कोड : 

(ए) केवल 1  

(बी) केवल 2 

(सी) 1 और 2 दोनो ं 

(डी) न तो 1 और न ही 2 

85. Ans– (d) 

None of the statements mentioned in the question is 
incorrect. 

Ůʲ मŐ उİʟİखत कोई भी कथन गलत नही ंहै। 

86. ‘Probiotic’ term is used for: 

(a) Organic Food 

(b) Antacid 

(c) Antibiotic 

(d) Live Micro-organisms Food Supplement 

86. 'Ůोबायोिटक' पद का Ůयोग िकया जाता है : 

(ए) जैिवक भोजन 

(बी) एंटािसड 

(सी) एंटीबायोिटक 

(डी) जीिवत सूƘ जीव खाȨ अनुपूरक 

86. Ans– (d) 

'Probiotics' is a live microbial food supplement, which 
fulfills the needs of early death incidents, increase in 
growth rate, improvement in food preservation, egg 
quality and animal health. 

'Ůोबायोिटƛ' एक जीिवत माइŢोिबयल खाȨ पूरक है, जो समय 
से पहले मौत की घटनाओ,ं िवकास दर मŐ वृİȠ, खाȨ संरƗण मŐ 
सुधार, अंडे की गुणवȅा और पशु ˢा˖ की जŝरतो ंको पूरा 
करता है। 

87. In an ecosystem the recycle of which of the 
following does not occurs? 

(a) Organic Substances 

(b) In-organic Substances 

(c) Water 

(d) Energy 

87. एक पाįरतंũ मŐ िनɻिलİखत मŐ से िकसका पुनचŊŢण नही ंहोता 
है? 

(ए) काबŊिनक पदाथŊ 

(बी) अकाबŊिनक पदाथŊ 

(सी) पानी 

(डी) ऊजाŊ 

87. Ans– (d) 

In an ecosystem the recycle of Energy does not occurs. 
Flow of energy is unidirectional. 

एक पाįरİ˕ितकी तंũ मŐ ऊजाŊ का पुनचŊŢण नही ंहोता है। ऊजाŊ 
का Ůवाह एकिदशीय होता है। 

88. Which one of the following is related with the study 
of birds? 

(a) Ornithology  

(b) Herpetology 

(c) Ichthyology  

(d) Serology 

88. िनɻिलİखत मŐ से कौन-सा पिƗयो ंके अȯयन से संबंिधत है ? 

(ए) पƗीिवǒान 

(बी) हपőटोलॉजी 

(सी) इचथोलॉजी 

(डी) सीरोलॉजी 

88. Ans– (a) 

Herpetology – Study of Amphibians and Reptiles 

Serology – Scientific study of Blood Serum 

Ichthyology – Study of Fish 

हपőटोलॉजी - उभयचरो ंऔर सरीसृपो ंका अȯयन 

सीरोलॉजी - ɰड सीरम का वैǒािनक अȯयन 

इचथोलॉजी - मछली का अȯयन 
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89. Nilgai (Boselaphus Tragocamelus) found in India,is 
the largest species of : 

(a) Cow  

(b) Goat 

(c) Antelope  

(d) Sheep 

89. भारत मŐ पायी जाने वाली नीलगाय (बोसेलाफस टŌ ागोकैमेलस) 
सबसे बड़ी Ůजाित है : 

(ए) गाय 

(बी) बकरी 

(सी) एंटीलोप 

(डी) भेड़ 

89. Ans– (c) 

Nilgai (Boselaphus Tragocamelus) found in India,is the 
largest species of Antelopes. Like antelopes Nilgai have 
permanent horns. 

भारत मŐ पाई जाने वाली नीलगाय (बोसेलाफस टŌ ैगोकैमेलस) मृगो ं
की सबसे बड़ी Ůजाित है। मृग की तरह नीलगाय के ˕ायी सीगं 
होते हœ। 

90. Consider the following statements: 

1. The strongest part of the human body is enamel. 

2. In human body, the strongest muscles are situated in 
the jaw. 

Choose the correct statement: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

90. िनɻिलİखत कथनो ंपर िवचार कीिजए: 

1. मानव शरीर का सबसे मजबूत भाग इनेमल है। 

2. मानव शरीर मŐ सबसे मजबूत मांसपेिशयां जबड़े मŐ İ˕त होती 
हœ। 

सही कथन चुनŐ: 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

90. Ans– (c) 

Both the statements mentioned in the question are 
correct. 

Ůʲ मŐ उİʟİखत दोनो ंकथन सही हœ। 

91. Consider the following statements and choose the 
correct answer with the help of the codes given below: 

Assertion (A): Apple has great importance for the heart 
patients. 

Reason (R): Apples are enriched with the Potassium, 
which regulates the heartbeat. 

Code: 

(a) Both (A) and (R) are correct, (R) is the correct 
explanation of (A) 

(b) Both (A) and (R) are correct but (R) is not the 
correct explanation of (A) 

(c) (A) is correct but (R) is incorrect 

(d) (A) is incorrect but (R) is correct. 

91. िनɻिलİखत कथनो ंपर िवचार कीिजए और नीचे िदए गए कूट 
की सहायता से सही उȅर चुिनए: 

अिभकथन (A) : şदय रोिगयो ंके िलए सेब का बŠत महȕ है। 

कारण (R) : सेब पोटेिशयम से भरपूर होते हœ, जो şदय की धड़कन 
को िनयंिũत करता है। 

कोड: 

(ए) दोनो ं(ए) और (आर) सही हœ, (आर) (ए) का सही ˙ʼीकरण है 

(बी) दोनो ं(ए) और (आर) सही हœ लेिकन (आर) (ए) का सही 
˙ʼीकरण नही ंहै 

(सी) (ए) सही है लेिकन (आर) गलत है 

(डी) (ए) गलत है लेिकन (आर) सही है। 

91. Ans– (a) 

Assertion (A) and Reason (R) both are correct but 
Reason (R) is the correct explanation of Assertion (A). 

कथन (A) और कारण (R) दोनो ंसही हœ लेिकन कारण (R), कथन 
(A) की सही ʩाƥा है। 
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92. If weight of a person at the earth is 600 Newton, 
then his weight at the moon will be: 

(a) 60 Newton  

(b) 1000 Newton 

(c) 6000 Newton  

(d) 100 Newton 

92. यिद िकसी ʩİƅ का पृțी पर भार 600 Ɋूटन है, तो चȾमा 
पर उसका भार होगा: 

(ए) 60 Ɋूटन 

(बी) 1000 Ɋूटन 

(सी) 6000 Ɋूटन 

(डी) 100 Ɋूटन 

92. Ans– (d) 

Because of weight at moon is 1/6 of the weight at 
earth, so if the weight of a man at the earth is 600 N 
then it will be 600/6 = 100 N at the moon. 

Ɛोिंक चंūमा पर वजन पृțी के वजन का 1/6 है, इसिलए यिद 
पृțी पर एक आदमी का वजन 600 N है तो यह चंūमा पर 
600/6 = 100 N होगा। 

93. Which of the following metal is present in Insulin? 

(a) Tin 

(b) Copper 

(c) Manganese  

(d) Zinc 

93. िनɻिलİखत मŐ से कौन-सी धातु इɌुिलन मŐ उपİ˕त होती है 
? 

(ए) िटन 

(बी) कॉपर 

(सी) मœगनीज 

(डी) िजंक 

93. Ans– (d) 

Zinc metal is present in Insulin. This is a type of 
hormone which is formed in Pancreas. Insulin absorbs 
Glucose and controls the Carbohydrates and Fat 
Metabolism. 

िजंक धातु इंसुिलन मŐ मौजूद होता है। यह एक Ůकार का हामŖन है 
जो अƱाशय मŐ बनता है। इंसुिलन Ƹूकोज को अवशोिषत करता 
है और काबŖहाइडŌ ेट और वसा के चयापचय को िनयंिũत करता 
है। 

94. Which of the following statements related with 
National Investment Fund is/are correct? 

1. Revenue received from the dis-investment of Public 
Enterprises is deposited in this Fund. 

2. The amount received from this is kept in 
Consolidated Fund of India. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) None of these 

94. रा Ō̓ ीय िनवेश कोष से संबंिधत िनɻिलİखत मŐ से कौन सा/से 
कथन सही है/हœ? 

1. सावŊजिनक उȨमो ंके िविनवेश से Ůाɑ राजˢ को इस कोष मŐ 
जमा िकया जाता है। 

2. इससे Ůाɑ रािश भारत की संिचत िनिध मŐ रखी जाती है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) इनमŐ से कोई नही ं

94. Ans– (a) 

National Investment Fund was formally started in the 
year 2007. Revenue received from the disinvestment of 
Public Enterprises is deposited in this Fund and this 
amount is kept out of the Consolidated Fund of India. 

रा Ō̓ ीय िनवेश कोष औपचाįरक ŝप से वषŊ 2007 मŐ शुŝ िकया 
गया था। सावŊजिनक उȨमो ंके िविनवेश से Ůाɑ राजˢ को इस 
कोष मŐ जमा िकया जाता है और इस रािश को भारत की संिचत 
िनिध से बाहर रखा जाता है। 

95. Consider the following: 

1. Albumin  

2. Globulin 
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3. Nucleo Protein 

Which of the aboves is/are the example of Conjugated 
Proteins? 

(a) Only 3  

(b) 1 and 2 

(c) 2 and 3  

(d) All of the above 

95. िनɻिलİखत पर िवचार कीिजए: 

1. एʛुिमन 

2. Ƹोबुिलन 

3. ɊूİƑयो Ůोटीन 

उपयुŊƅ मŐ से कौन-सा/से संयुİƵत Ůोटीन का उदाहरण है/हœ? 

(ए) केवल 3 

(बी) 1 और 2 

(सी) 2 और 3 

(डी) उपरोƅ सभी 

95. Ans– (a) 

Albumin and Globulin are simple proteins while 
Nucleoprotein is the example of Conjugated Protein. 

एʛुिमन और Ƹोɯुिलन सरल Ůोटीन हœ जबिक ɊूİƑयोŮोटीन 
संयुİƵत Ůोटीन का उदाहरण है। 

96. Which of the following items are kept out from the 
National Income? 

(a) Domestic Services 

(b) Buying & Selling of Share Certificates 

(c) Pension 

(d) All of the above. 

96. िनɻिलİखत मŐ से कौन सी वˑु रा Ō̓ ीय आय से बाहर रखी 
जाती है? 

(ए) घरेलू सेवाएं 

(बी) शेयर Ůमाणपũो ंकी खरीद और िबŢी 

(सी) पŐशन 

(डी) उपरोƅ सभी। 

96. Ans– (d) 

All the items mentioned in the question are kept out 
from the National Income. 

Ůʲ मŐ उİʟİखत सभी मदो ंको रा Ō̓ ीय आय से बाहर रखा गया है। 

97. Which of the following pairs is not correctly 
matched? 

(a) Anthic Acid – Apple 

(b) Acetic Acid – Pickel 

(c) Carbonic Acid – Soda 

(d) Ascorbic Acid – Lemon 

97. िनɻिलİखत मŐ से कौन-सा युƵ सुमेिलत नही ंहै? 

(ए) एंिथक एिसड - सेब 

(बी) एिसिटक एिसड - अचार 

(सी) काबŖिनक एिसड - सोडा 

(डी) एˋॉिबŊक एिसड – नीबूं 

97. Ans– (a) 

Malic Acid is found in Apple. 

सेब मŐ मैिलक एिसड पाया जाता है। 

98. Which one of the following pairs is not correctly 
matched? 

(a) Silicon Carbide – Artificial Diamond 

(b) Wool – A Protein 

(c) Rayon – Converted Starch 

(d) DiChloro DiFlouro Methane – Refrigerant 

98. िनɻिलİखत मŐ से कौन-सा युƵ सही सुमेिलत नही ंहै? 

(ए) िसिलकॉन काबाŊइड - कृिũम हीरा 

(बी) ऊन - एक Ůोटीन 

(सी) रेयन - पįरवितŊत ːाचŊ 

(डी) डीƑोरो डी ɢोरो मीथेन - रेिůजरŐट  

98. Ans– (c) 

Rayon is a fiber made from regenerated cellulose. 

रेयॉन पुनजŎिवत सेलुलोज से बना एक फाइबर है। 

99. All the oxygen released by the process of 
photosynthesis of plants is obtained from: 
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(a) Water 

(b) Chlorophyll 

(c) Carbon Dioxide 

(d) None of these 

99. पौधो ंमŐ Ůकाश संʶेषण की ŮिŢया Ȫारा मुƅ होने वाली 
समˑ ऑƛीजन Ůाɑ होती है: 

(पानी 

(बी) Ƒोरोिफल 

(सी) काबŊन डाइऑƛाइड 

(डी) इनमŐ से कोई नही ं

99. Ans– (a) 

All the oxygen released by the process of 
photosynthesis of plants is obtained from water. 

पौधो ंमŐ Ůकाश संʶेषण की ŮिŢया Ȫारा मुƅ होने वाली समˑ 
ऑƛीजन जल से Ůाɑ होती है। 

100.Which one of the following statements is correct? 

(a) Colour of blood is red because of snow pigment. 

(b) The main function of Haemoglobin is convection of 
Oxygen. 

(c) The cemetery of dead blood cells is called the 
spleen. 

(d) All the statements are correct. 

100.िनɻिलİखत मŐ से कौन सा कथन सही है? 

(ए) िहम वणŊक के कारण रƅ का रंग लाल होता है। 

(बी) हीमोƸोिबन का मुƥ कायŊ ऑƛीजन का संवहन है। 

(सी) मृत रƅ कोिशकाओ ंके किŰˑान को ितʟी कहा जाता है। 

(डी) सभी बयान सही हœ। 

100. Ans– (d) 

All the statements mentioned in the question are 
correct. 

Ůʲ मŐ उİʟİखत सभी कथन सही हœ। 
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http://www.studymasterofficial.com/
http://www.studymasterofficial.com/
http://www.studymasterofficial.com/


ST
U

DY
 M

AS
TE

R 
O

FF
IC

IA
L 

   
 V

isi
t o

ur
 o

ffi
ci

al
 w

eb
sit

e 
fo

r m
or

e 
pd

f w
w

w
.s

tu
dy

m
as

te
ro

ffi
ci

al
.c

om
  

GOOGLE - STUDY MASTER OFFICIAL                    www.studymasterofficial.com 
 
 
 
 
 

STUDY MASTER OFFICIAL   - www.studymasterofficial.com  98961 – 60956 
This is Paid pdf of Study Master Official, for more details contact us. Copyright@studymaster 

Paid Study Material, Question Bank &HCS Test Series, Special Notes Contact WhatsApp 9896160956 

 
Test Series Schedule 

www.studymasterofficial.com 

2 

4. 7 March 2023 Modern History Modern History  

5. 9 March 2023 Geography Complete Geography  

6. 11 March 2023 Polity Polity   

7. 13 March 2023 Economy Economy  

8. 15 March 2023 Science Biology, Physic, Chemistry  

9. 17 March 2023 Ancient History Ancient History & Culture  

10. 19 March 2023 Geography Complete Geography  

11. 21 March 2023 Economy Complete Economy  

12. 23 March 2023 Polity Complete Polity  

13. 25 March 2023 History Complete History  

14. 27 March 2023 Geography Complete Geography  

15. 29 March 2023 Science Complete Science  
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- 3 

Complete Syllabus + Current 
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18. 8 April 2023 Complete Syllabus Test 
- 4 
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Affairs + HR GK  

19. 11 April 2023 Complete Syllabus Test 
- 5 

Complete Syllabus + Current 
Affairs + HR GK  

20. 15 April 2023 Complete Syllabus Test 
- 6 

Complete Syllabus + Current 
Affairs + HR GK  

21. 18 April 2023 Complete Syllabus Test 
- 7 

Complete Syllabus + Current 
Affairs + HR GK  
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Previous Test Series Results and Details 
Test Series 2016: Total Test 10 – 23 Question asked direct in Exam from Test Series 

Test Series 2019: Total Test 25 – 68 Question asked direct in Exam from Test Series 

Test Series 2021: Total Test 35 – 38 Question asked direct/indirect in Exam from Test Series 

Test Series 2021(Re-Exam): Total Test 35 – 19 Question asked direct in Exam from Test Series 

Test Series 2023: Total Test 25 – We are going to cover maximum questions from our Test 
Series in this exam.  

22. 22 April 2023 Complete Syllabus Test 
-8 

Complete Syllabus + Current 
Affairs + HR GK  

23. 25 April 2023 Complete Syllabus Test 
-9 

Complete Syllabus + Current 
Affairs + HR GK  

24. 29 April 2023 Complete Syllabus Test 
-10 

Complete Syllabus + Current 
Affairs + HR GK  

25. 30 April 2023 Complete Syllabus Test 
-11 

Complete Syllabus + Current 
Affairs + HR GK  
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Hope for the Best & Good Luck for the Exam. 

WhatsApp (9896160956) for Samples of Study Material, Special Notes, Question Bank, 
NCERT Gist Books and Test Series. 

 

Other Course Details for HCS 2023 

1. Study Material available in Hindi & English Medium. (Get free Samples Now) 

2. Question Bank available in bilingual medium same as exam. (Get free Samples Now) 

3. NCERT Gist Books available in bilingual medium. (Get free Samples Now) 

4. Test Series available in bilingual medium same as exam. (Get free Samples Now) 

5.Video Courses (Subject wise) 

6.Complete GK/GS Booster for HCS 2023 Bilingual Course. (Watch demo lectures on 
Application – Study Master Official) 

 

WhatsApp (9896160956) for Samples of Study Material, Special Notes, Question Bank, 
NCERT Gist Books and Test Series. 

 

Our Question Bank for prelims contains 23000 questions in bilingual medium and it covered 
74 questions in HCS Prelims 2019, 79 Questions in HCS Prelims 2021 and 77 Questions in 

HCS Prelims 2021 (Re Exam.) 

 

Thanks, and Good Luck for Your Exam. 

Team Study Master Official 

Helpline/WhatsApp: 9896160956 
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